-!!---\!QMEE_E

o I

ISO Cylinder

Series C85

08, 010, 012, 916, 020, 625

SR = Spring Return

Conforming to ISO 6432 and CETOP RP52P. CJ1
CJP
CJ2
CM2
CG1
MB
MB1
CA2
CSt
o C76
C85
C95
Series Variations
Head tyl Switch t CP95
) . . ead cover style witch mount|  [Rod boot|  (Bore size —
Series Action Rod Cushion N H = H = H > RaiIHBand (920, 25) (mm) Page NCM
Standard ) NCA
Series C85 Single -
Double
; ; —| 6-11-6| |D-
%} acting Rubber }
= Double
@ ,g' x Air | -X
t Single Single 8 || 20-
' acting (SR, SE) Rubber to25 [|6°11-23
(Not for SE) Data
Non-rotating rod Doubl . 8
Series C85K > ac()::n: Single Rubber too5 []6-11-6
A Single Single 8
N acting (SR, SE) Rubber to25 []6-11-23
(Not for SE)
Direct mount B Doubl .
Series C85R T~ az:nge Single Rubber *—0 10825 m
6-11-38
- A Dogble Single Rubber
acting ﬁ 20, 25 =
Mounting style

SE = Spring Extended

&

6-11-1



Series C85: 08, 010, 012,

Extended Service Life
Automated assembly guarantees Corrosion Resistance

100% repeatable mounting
All parts are corrosion resistant.

accuracy. _ .
With abrasion resistant seals - End covers and clevis are specially
and replaceable nose seal, = anodised while barrel is stainless steel.

Piston rod is stainless steel up to g16.

C85 cylinders offer
020 to 940 is C45 hard chromed.

exceptional service life.

ISO Standard 6432

is compliant with auto switch type.

C85: 08, 010, 012, 016

Bronze Bush Bearing

High quality bronze bush in clevis
bearing extends the life of cylinder.

High Dust Resistance

A unique rod seal is employed to
prevent entry of dust.

The effectiveness of the seal makes
the cylinder suitable for use in
extremely dusty environments.

C85: 020, 025
Leak Proof Assembly

Double swaging of the end covers of
the barrel provides an absolutely air
tight union.

6-11-2

O
:



016, 020, 025,

Easy-accurate Mounting

Simple space-saving design with high

dimensional accuracy makes these cylinders

very easy to use.

Large spanner flats on the rod and head
covers greatly simplify their installation and

positioning.

High Speed Actuation

Low friction and the standard elastomer
cushion seals allow piston speeds up to
1500 mm/s. Either rubber bumper or air
cushions are available.

Replaceable Rod
Seal

Rod seal can be quickly
replaced, greatly extending
the cylinder life.

(C85 920, 25).

Minimized Side
Clearance
The close tolelance of the

piston rod in the front end
bush allows greater side

loading. C85: 920, 025

Gl )2
Series Variations .(([((((l

Barrel

Strong, Corrosion-proof

Mounting Flexibility
Different head covers allow a great
variety of mounting options.

The risk of breakage or deformation
due to external impacts is reduced
by the use of harder, heavy walled
stainless steel tube.

Basic integrated clevis (N) Rod boot Only bores @20, 825 mm Bore 28 to 916 and
(Only 220, 925) all non-rotating
. . o Double end (E) N . -XB6 -XB7 -XB9  _yc4 piston rod are
Series| Action | Variations Bore size (mm) Front nose Auto switch  High Low Low Heavy already
Front nose Rail Band eMP- temp. speed " "  Stainless steel
8 10 12 16 20 25 in line port (Y)|  mounting mounting scraper R2
Rubber
cushion
Air
cushion
Non
Double | | iating
.actmg, Direct
Single rod | mount
Bottom side
mounting
Direct
mount
Front side
css mounting
D Rubber
ouble | cyshion
acting, -
Double rod|  AIr
cushion
Single Rubber
acting, cushion
Spring Non
return rotating
Single Rubber
acting, cushion
Spring Non
extended rotating

o
S

Stainless steel
piston rod,
rod end nut and
mounting nut

6-11-3

it
P
c2
oz
o1

Stainless steel
piston rod and
rod end nut



Stroke Selection

Series C85

The relation between the cylinder size and the
maximum stroke depending on the mounting style

The maximum stroke at which the cylinder can be
operated under a lateral load

Assuming that the force that is generated by the cylinder itself acts as a
buckling force on the piston rod or on the piston rod and the cylinder tube,
the table below indicates in centimeters the maximum stroke that can be
used, which was obtained through calculation. Therefore, it is possible to
find the maximum stroke that can be used with each cylinder size
according to the relationship between the level of the operating pressure
and the type of cylinder mounting, regardless of the load factor.

The region that does not exceed the bold solid line represents the allowable
lateral load in relation to the cylinder of a given stroke length. In the graph, the
range of the broken line shows that the long stroke limit has been exceeded. In
this region, as a rule, operate the cylinder by providing a guide along the
direction of movement.

R Bushing (Bearing) CJ1
Reference: Even under a light load, if the piston rod has been
stopped by an external stopper at the extending side of l —
the cylinder, the maximum force generated by the - _ CJP
cylinder will act upon the cylinder itself. ‘—\ﬂ —
(cm) Series C85: 08, 10, 212, 216 CM2
) e Maximum stroke that can be used 10.0 —
Mounting style 2 according to buckling strength CG1
g 5
_ gl e cs5 ——
Mounting bracket | 8 —
diagram 2| & =3 MB
Slwg| 8 10 | 12 | 16 20 | 25 x \
o
. |Rod side [Head side S
Foot: Ll S e lgea| | 03| 24 | 18 | 36 | 26 | 38 | 48 : 1 0\\ S MB1
05| 18 14 27 19 29 36 = ~
F e N F~—~—1C85014 CA2
07| 14 | 11 | 22 | 16 | 23 | 30 B AN T-=-
g RIS =~ - G851 CS1
03] 9 6 15 | 10 | 15 | 20 s R [~~< R RET
: T TR | ere
Glos5| 6 4 | 10| 6 | 10 | 14 & Tq-- B e
E 0.1 -~
« . e
07| 4 | 3| 8 | 4 | 8 | 11 = === C85
Clevis Rod side
e 03| 22 17 35 24 36 46
C,D trunnion: U . c95
D 05| 16 12 26 18 27 34 ——
{ 0.7 13 10 21 14 22 28 L
0.01
0.3 | (40)*| (40)*| (40)* | (40)*| 80 |(100)* 0 50 100 150 200 250 300 350 400 450 NCM
Head side Center ujos| 38 30 | (40)"| (40)*| 61 77 Cylinder stroke (mm) NCA
trunnion: U | trunnion: O 07| 20 o5 40| 35 51 64
Series CS1 only ) (40) D_
03| 22 | 17 | 35 | 24 | 37 | 47 Series C85: 320, 025
100.0 -
T|05| 16 12 26 18 27 35 X
07| 13 | 10 | 21 | 14 | 22 | 28 20-
Rod side[Head side| . . —
Foot: L X K 0.3 | (40)*| (40)* | (40)*| (40)* |(100)*|(100)*
flange: F| flange: G ) (40)7| (40)7) (40)") (40)" (100)"(100) = Data
F |05 (40)*| (40)*| (40)* | (40)*| 89 ((100)* i -
B 1005
0.7 | (40)*| 36 |(40)* | (40)*| 74 | 93 % o~
5 AN
03| 33 | 26 |(40)*| 37 | 54 | 89 i
o
Glos| 25 | 19 | 39 | 27 | 41 | 52 3 4l e
g ~ =~=85025
© S S ~ -
7| 2 1 2 | 22 =~ RS
0 0| 15 | 3 33 | 48 3 » - [C85135, -l ]
., |Rod side[Head side . " = . ==
Foot: L | o nge: Flflange: G| | 0-3 | (40)* | (40)* | (40)* | (40)* |(100)*|(100) g e —
L ] ] ©
F 0.5 | (40)*| (40)*| (40)*| (40)* |(100)*|(100)* -
0.7 | (40)*| (40)*| (40)* | (40)* |(100)*|(100)*
0.3 | (40)*| 38 | (40)*| (40)*| 79 |(100)*
0.1
G 05| 37 | 29 | (40)"| (40)"| 60 | 76 0 100 200 300 400 500 600 700 800 900 1000
o 23 | (40)*| 34 . - Cylinder stroke (mm) 1100
6-11-5

O



ISO Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Series C85

08, 910, 012, 016, 620, 625

How to Order

85

16 — 40

R2

Double actin
Single rod i C

Double actin
Double rodg C

Bult-in magnet

I

| |

85W

16

40

JJ

Nil None
D | Built-in magnet
Type
Nil Standard
K | Non-rotating rod Mounting style ¢
(Rubber cushion only) -
Symbol Mounting
N Basic integrated clevis
EL.« Double end
F** Front nose
Y** | Front nose in line port
* Double acting, Double rod:
Only double end style (E).

#x Except air cushion type.

i

IAuto switch

mounting type

A Rail mounting

B | Band mounting
Applicable auto switches
and bands are shown on
page 6-11-44. Please
order auto switches and
bands separately.

Option ¢
Stainless steel piston rod, rod end nut
z and mounting nut
Stainless steel piston rod and
= rod end nut

Note) Please refer to page 6-11-47 for additional

options. Only one option can be selected.
Bore size} Stroke o
Bore size o Max. stroke (mm)
(mm) SENGENR STELS )| e Non-rotating | Double rod
&
1(8) 10, 25, 40, 50, 80, 100 100 100
400
12 10, 25, 40, 50, 80, 100, 200 200
16 125, 160, 200
20 10, 25, 40, 50, 80, 100,
25 125, 160, 200, 250, 300| 1000 1000 500
+ Not available with air cushion.
=xOther strokes available on request. ] *Rod boot (OnIY 920, 525)
Cushion . Nil Without rod boot
Nil Rubber cushion (Standard) J Nylon tarpaulin one side
Air cushion (Only “N” execution, K Heat resistant tarpaulin one side
c bores 10 to 25 mm) JJ* Nylon tarpaulin both sides
KK* |Heat resistant tarpaulin both sides
# In the case of double acting/double rod.
Replacement Parts
Mounting Bracket Part No. For Standard Cylinders
i Bore size (mm Part no. Not
. Bore size (mm) 8 10 12 16 20 25 ize ( ) art no 0'6
Mounting bracket 20 C85-20PS Every set includes:
Foot (1 pc.) C85L10A C85L16A C85L25A n°1 rod seal
Foot (2 pcs. with n°1 seal retaining washer
Mounting [ mounting nut 1 pc.) C85L10B c8sL16B C85L25B 25 C85-25PS n°1 retaining ring
bracket | Flange C85F10 | CB5F16 C85F25 For Non-rotating Cylinders (“K”)
Trunplon C85T10 C85T16 C85T25 Bore size (mm) Part no. Note
Clevis C85C10 C85C16 C85C25 Every set includes:
Single knuckle joint KJ4D KJ6D KJsD | KJ10D 20 C85K-20PS n¥1 rod seal
Accessory Double knuckle joint| GKM4-8 | GKM6-10 |GKM8-16|GKM10-20 »s cora5rS n°1 seal retaining washer
ing joi -4 -6- JA20 | JA30 3 n°1 retaining ring
Floating joint JA10-4-070 | JA15-6-100 8125 |-10-125
6-11-6

O

SVC



ISO Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Rubber cushion/Single rod

Air cushion/Single rod

Rubber cushion/Double rod

Air cushion/Double rod

JIS Symbol
Double acting, Single rod

[

Rubber cushion

Double acting, Double rod

»\’/
e

Non-rotating

—a
| |

Air cushion

v

[

Rubber cushion

Air cushion

Non-rotating rod: Double acting, Single rod

4

[

Pd

Specifications

Series C85

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 x0.7 | M4x0.7 | M6x1 M6x1 |[M8x1.25|M10x1.25
Port size M5x0.8 | M5x0.8 | M5x0.8 | M5x0.8 G 1/8 G 1/8
Action Double acting, Single/Double rod
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa CJ1
Min. operating| Spring return 0.05 MPa —
pressure Spring extended 0.1 MPa 0.08 MPa 0.05 MPa 0.08 MPa CJP
Ambient and fluid o S . o
temperature —20 to 80°C (Built-in magnet: —10 to 60°C) CJ2
Cushion Rubber cushion, Air cushion (Except @8) (Non-rotating: Rubber bumper only) CM2
Lubrication Not required. Use turbine oil Class 1 ISO VG32, if lubricated.
Nylon Max. ambient CG1
tarpaulin - temperature 60°C
Rod boot
Heat resistant _ Max. ambient MB
tarpaulin temperature 110°C*
Piston speed 50 to 1500 mm/s MB1
Rubber
Allowable cushion 0.02J 0.03J 0.04J 0.09J 0.27J 0.4J CA2
kinetic
energy Air
aueliter — 0.17J 0.19J 04J 0.66 J 0.97J CS1
Non-rotating accuracy +1° 30" +1° 30' +1° +1° +0° 42' +0° 42" C76
Stroke tolerance (mm) 0/+1 0/+1.4
* Maximum ambient temperature of rod boots only. 085
C95
. . CP95
Weight (Standard, Non-rotating rod) ©)
Bore size (mm) 8 10 12 16 20 25 NCM
Double action [Basic weight 45 49 96 | 109 |183(203)|258(286)
Double rod  |Add'l weight for each 10 mm of stroke 3 3.2 6.2 72 | 11.8 18.4 NCA
C85L0A 20 40 95
Cc85L0B 55 105 210 D-
Mounting bracket C85F0 12 25 90 X
C85T0 20 50 75 B
C85C0 20 40 85 20_
£ |Single knuckle joint | KJID 17 25 45 70
[ .
§ Double knuckle joint | GKMO-O 10 20 50 100 Data
< |Floating joint JAO-O-0 10 20 50 70

Calculation: (Example) C85N10-50, C85F10

Basic weight
Additional weight
Cylinder stroke
Mounting bracket
49 + 3.2 x 50/10 = 659

o
S

49 (010)g

3.2/10 mm of stroke
50 mm

129

65 +12 = 77g

( ): In the case of air cushion

6-11-7



Series C85

Auto Switch Mounting, Minimum Possible Cylinder Stroke

Band Mounting Style

Rail Mounting Style

Bore size: 28, 810, 12, 16 (mm) Bore size: 28, 810, 12, 216 (mm)
} No. of auto switches ) No. of auto switches
Auto switch 3 pes. 2 pes. . Auto switch .
model Different sides| Same side [Different sides| Same side model S 2 pes.
D-C701 D-A7(C1/A80
D-C80 55 90 15 50 10 D-A73C/A80C 35 10 5
D-C73C D-A7CH
D-C80C 65 105 15 65 10 D-A80H % 10 °
D-H7C D-A79W * 40 15 10
D-H7O1 D-F701
D-H7OW D-J79 45 5 5
D-H7BAL 60 105 15 60 10 D-F700V
D-H7NF D-J79C 30 5 5
D-F70O0W
D-J79W
D-F7BAL 55 15 10
D-F79F
D-F7O0wWvV
D-F7BAVL 40 15 10
+= “D-A79W” can not be mounted on bore size 28, 10, g12
cylinder.
Band Mounting Style Rail Mounting Style
Bore size: 620, 925 (mm) Bore size: 820, 25 (mm)
) No. of auto switches ) No. of auto switches
Auto switch 2 pcs. h pes. . Auto switch .
model Different sides| Same side [Different sides| Same side model Qe N pes.
D-C70J 15 + 45("52 D-A7C1/A80
D-C80 15 50 (n= 2,(4.2..) ls0.+4500-2) 10 D-A7CIH/AS0H
D-C73C D-A73C/A80C 2
D-C80C 15 65 15 + 45("52) 10 D-F70] 10 104+35(5°) | 5
D-H7C (=2, 4.2") 65 + 50(n — 2) D-F70V (n=2,4..)
D-H7C D-J79
H n-2 .
D-H7NF D-F70W
D-J7oW 15+ 35("2)
D-F7BAL 15 10
(n=2,4..)
D-F79F
D-F7O0WvV
D-F7BAVL
6-11-8

O
:



Construction

ISO Cylinder: Standard/Non-rotating Type

Double Acting, Single/Double Rod

Series C85

[First angle projection]

Double acting, Single rod
C[8518 to 16 Rubber cushion (Disassembly is not possible.)

CJ1
“N” Basic style  “E” Double end “F” Front nose “Y” Front nose CJP
integrated clevis in line port  —
CJ2
L) Non-rotating CM2
VT @ @ | CG1
Standard 08 Built-in magnet Rod cross section \
Component Parts MB
No. Description Material Qty. Note No. Description Material Qty. Note
©) Rod cover Aluminum alloy 1 White anodized ® Bush Sintered bronze 1 MB1
Head cover N | Aluminum alloy 1 White anodized @ Magnet Magnet 1 (Switch type only)
Head cover E | Aluminum alloy 1 White anodized Bumper Urethane 2 CA2
Head cover F | Aluminum alloy 1 White anodized ® Piston gasket NBR 1 (2 for switch type)
Head cover Y | Aluminum alloy 1 White anodized Tube gasket NBR 2 CS1
® Cylinder tube Stainless steel 1 ) Rod seal NBR 1
@ Piston rod Stainless steel 1 7 Piston seal NBR 2 C76
Piston A Brass 1 (E] Rod end nut Carbon steel 1 Nickel plating
Piston B Brass 2 (Switch type piston) Mounting nut Carbon steel 1 Nickel plating 085
C[185[120/25 Rubber cushion C95
@ @ ® @ @9 @ 1 5 @ @ @ 1 2D
CP95
‘ ‘ NCM
g ] T o
T ‘ 0
: I I Ol NeA
— \ \ —
v v D-
“N” Basic style “E” Double end  “F” Front nose “Y” Front nose
integrated clevis in line port -X
® @ ®a®d @ a
20-
Non-rotating \ Data

\

< o o

. \

Rod cross section \

Built-in magnet

Component Parts

O

:

No. Description Material Qty. Note No. Description Material Qty. Note

©) Rod cover Aluminum alloy 1 White anodized ©) Retaining ring Carbon steel 1 Nickel plating
Head cover N | Aluminum alloy 1 White anodized Retaining ring | Stainless steel 1
Head cover E | Aluminum alloy 1 White anodized a Magnet Magnet 1 (Switch type only)
Head cover F | Aluminum alloy 1 White anodized 7 Wear ring Resin 1
Head cover Y | Aluminum alloy 1 White anodized () Bumper A Urethane 1

©) Cylinder tube Stainless steel 1 Bumper B Urethane 1

@ Piston rod Carbon steel 1 Hard chrome plated (5] Piston gasket NBR 1

® Piston Aluminum alloy 1 Chromate Rod seal NBR 1

® Plain washer Stainless steel 1 a7 Piston seal NBR 1

@ Bush Sintered bronze 1 Rod end nut Carbon steel 1 Nickel plating
Bush Sintered bronze 2 9 Mounting nut Carbon steel 1 Nickel plating

6-11-9



Series C85

Construction

[First angle projection]

Double acting, Single rod

C[850110 to 16 Air cushion (Disassembly is not possible.)

AR

1

1 rr¥es o _ oo _fm_ _
Standard “N” integrated clevis Built-in magnet
Component Parts
No. Description Material Qty. Note No. Description Material Qty. Note
@ | Rod cover Aluminum alloy 1 White anodized @ |Cushion ring Brass 2
@ | Head cover N Aluminum alloy 1 White anodized Magnet Magnet 1 (Switch type only)
(3@ | Cylinder tube Stainless steel 1 @ |Mounting nut Carbon steel 1 Nickel plating
@ | Piston rod Stainless steel 1 1 |Tube gasket NBR 2
Piston A Brass 1 13 |Rod seal NBR 1
Piston B Brass 2 (Switch type piston) Piston seal NBR 2
® | Bush Sintered bronze 1 @ |Check seal NBR 2
@ | Cushion needle | Stainless steel 2 Piston gasket an )
Steel ball Bearing steel 2 cusstI:ioriJ ?iige;:slijet NBR 8 (4 for switch type)
7 |Needle seal NBR 2
Rod end nut Carbon steel 1 Nickel plating

C[1850120/25 Air cushion

Standard “N” integrated clevis Built-in magnet

Component Parts

No. Description Material Qty. Note No. Description Material Qty. Note

@ |Rod cover Aluminum alloy 1 White anodized @3 |Cushion needle Alloy steel 2 |Electroless nickle plating

(@ |Head cover N Aluminum alloy 1 White anodized Cushion seal Urethane 2

(® |Cylinder tube Stainless steel 1 @ |Piston gasket NBR 1

(@ |Piston rod Carbon steel 1 Hard chrome plated Rod seal NBR 1

® |Piston Aluminum alloy 1 Chromate () |Piston seal NBR 1

® |Plain washer Stainless steel 1 Cushion ring gasket NBR 2

@ |Bush Sintered bronze 1 Cushion needle seal NBR 2

Bush Sintered bronze 1 20 |Rod end nut Carbon steel 1 Nickel plating

© |Retaining ring Carbon steel 1 Nickel plating @) |Mounting nut Carbon steel 1 Nickel plating

Cushion ring Brass 2 @ |Self locking ring | Stainless steel 2

@ [Magnet Magnet 1 (Switch type only) @ |Steel ball Stainless steel 2

@ |Wear ring Resin 1
6-11-10

O
:



ISO Cylinder: Standard/Non-rotating Type i
Double Acting, Single/Double Rod Series 085

Construction [First angle projection]

Double acting, Double rod
C[185WES to 16 Rubber cushion (Disassembly is not possible.)

CJ1
CJP
CJ2
CM2
CG1
—yH-—-th H- MB
Standard o8 Built-in magnet o8 Built-in magnet 10 to 16
Component Parts MB1
No. Description Material Qty. Note No. Description Material Qty. Note C A2
1 | Rod cover Aluminum alloy 2 White anodized ©@ |Bumper Urethane 2
@ | Cylinder tube Stainless steel 1 Piston gasket NBR 1 (2 for switch type) CS1
3 | Piston rod Stainless steel 1 2 for o8 @) |Tube gasket NBR 2
@ | Piston A Brass 1 12 |Rod seal NBR 2 C76
® | Piston B Brass 2 (Switch type piston) (3 |Piston seal NBR 2
® | Bush Sintered bronze 2 Rod end nut Carbon steel 2 Nickel plating 085
@ | Magnet Magnet 1 (Switch type only) (5 |Mounting nut Carbon steel 1 Nickel plating
Spacer Brass 1
C95
CO85WE20/25 Rubber bumper NN
CP95
NCM
NCA
D-
-X
Standard 20-
Data

— A R
Built-in magnet

Component Parts

No. Description Material Qty. Note No. Description Material Qty. Note
@ | Rod cover Aluminum alloy 2 White anodized ©@ |Bumper B Urethane 1
@ |Cylinder tube Stainless steel 1 Piston gasket NBR 1
3 |Piston rod Carbon steel 1 Hard chrome plated i) |Rod seal NBR 2
(@ | Piston Aluminum alloy 1 Chromate (2 |Piston seal NBR 1
® | Plain washer Stainless steel 2 @3 |[Rod end nut Carbon steel 2 Nickel plating
® |Bush Sintered bronze 2 Mounting nut Carbon steel 1 Nickel plating
@ | Retaining ring Carbon steel 2 Nickel plating @ |Magnet Magnet 1 (Switch type only)
Bumper A Urethane 1

% SVC 6-11-11



Series C85

Construction [First angle projection]

Double acting, Double rod
CO85WE10 to 16 Air cushion (Disassembly is not possible.)

\Z)

Standard

Built-in magnet

Component Parts

No. Discription Material Qty. Note No. Discription Material Qty. Note
@ | Rod cover Aluminum alloy 2 White anodized ©@ |Magnet Magnet 1 (Switch type only)
@ | Cylinder tube Stainless steel 1 Rod end nut Carbon steel 2 Nickel plating
® | Piston rod Stainless steel 1 @ |Tube gasket NBR 2
Piston A Brass 1 1 |Rod seal NBR 2
Piston B Brass 2 (Switch type piston) @3 |Piston seal NBR 2
® | Bush Sintered bronze 2 Check seal NBR 2
(® | Cushion needle | Stainless steel 2 Piston gasket an )
@ | Steel ball Bearing steel 2 ® cussr?iorfJ &rliigeg:s:et NBR 3 (4 for switch type)
Cushion ring Brass 2 Needle seal NBR
(@ |Mounting nut Carbon steel 2 Nickel plating
CO85WE 20/25 Air cushion
Built-in magnet
Component Parts
No. Discription Material Qty. Note No. Discription Material Qty. Note
(® |Rod cover Aluminum alloy 2 White anodized @ |Cushion seal Urethane 2
(@ |Cylinder tube Stainless steel 1 (2 |Piston gasket NBR 1
(® |Piston rod Carbon steel 1 Hard chrome plated @ |Rod seal NBR 2
@ |Piston Aluminum alloy 1 Chromated Piston seal NBR 1
® | Plain washer Stainless steel 2 @ | Cushion ring gasket NBR 2
® |Bush Sintered bronze 2 Cushion needle seal NBR 2
@ | Retaining ring Carbon steel 2 Nickel plating @ |Rod end nut Carbon steel 2 Nickel plating
Cushion ring Brass 2 Mounting nut Carbon steel 1 Nickel plating
© |Magnet Magnet 1 (Switch type only) Self locking ring | Stainless steel 2
Cushion needle Alloy steel 2 |Electroless nickel plating ) |Steel ball Stainless steel 2
6-11-12

O
:



Dimensions

ISO Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Series C85

[First angle projection]

Double acting, Single rod

Rubber cushion: CC185N Bore- Stroke~[

Without magnet, Built-in magnet

Rail mounting type (A)

AN

N

<)

NA

EW d13

Band mounting type (B)
or non-magnet

Air cushion: C[185N|Bore —Stroke | C—]

Without magnet, Built-in magnet

Rail mounting type (A)

With rod boot
KK

Cushion valve

wB

Band mounting type (B)
or non-magnet

Wh

G2

XC + Stroke
KV WH G1‘
sw 2 ‘
b4
BE < EE
14

oND

K/[Q
AM KW
F N1
H S + Stroke F
Z + Stroke RR
ZZ + Stroke
XC + Stroke
WA waA
|
— < e
T B D
- | I = e—
AM N1, N2
S + Stroke
Z + Stroke
ZZ + Stroke
CI85KN

Non-rotating, Piston rod (Rubber cushion only)

A\
NET| o _ S
- \
8 KM \('* @ i ) J %’f
"kl b - o
I \ < \
U X
Rod cross section
AM 9 1 f
h
(mm)
Bore|AM| BE |oC|ocons|oD| EE [EW| F |G1|G2|WAWB| H [HR| K [KA| KK |KV|KW|N1 |N2|NAaons|RR| S [SW| U |WH|XC| Z |2z
8 |12 |M12x125| 4 |4H9 [16.7|M5x0.8| 8 |12] 7 —|—128/10 | —|4.2|M4x0.7|19]| 6 [115(9.5/15| 12 |10 |46| 7| 6|16|64|76|86
10 |12 [M12x1.25| 4 |4H9 [16.7|M5x 0.8 8 |12 | (55| () [10.5 4.5/ 28 [10.5| — [4.2|M4 x 0.7| 19| 6 |133)|5%)| 15| 12 |10 (5| 7| 6| 16| | &% | &5
12 |16 |M16x15| 6|6H9 [19.7|M5x0.8]12 |17 || e5|9.5(5.5|38 |14 | 5 [6.2| M6 x 1 |24 8 [i25[138118.9 16 |14 | &) [10]| 9 |22] &5 | & ]i%
16 |16 |M16x15| 6(6H9 [19.7/M5x0.8[12 |17 || 5|9.5|5.5|38 [14 | 5 [6.2| M6 x 1 |24 8 [25[138/18.9 16 |13 |5 10| 9 |22|& | & |iH)
20 |20 |Me2x15| 8| . 128 | G1/8 |16 /20| 8 | 8 [15|8.5/44 17 | 6 [8.2]M8x125|32 |11 fsin)ts() 24 | 22 | 11]62 |13 |12 | 24|95 |115/126
25 |22 [M22x15(10 335 G1/8 [16 |22 8 | 8 [it5f3}10.5/ 50 [20 | 8 [t0.2|M10x1.25| 32 [11 [ts(17)(i5({7)| 30 | 22 |11 |65 |17 |12 | 28 [104|126(137
( ): In the case of air cushion.
With Rod Boot (mm)
Item h
Bore . Strokg| AM | @C | ee | T | K | KK 11050 | 5110100 [ 10110 150 | 151 10200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 | 8|3 | 20| 6 |M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 | 8 [Miox125| 74 87 99 112 137 162 187
Iltem 1 Wh
Bore Stroke| 1 to 50 |51 to 100{101 to 150|151 to 200(201 to 300[301 to 400401 t0 500| 1 to 50 |51 to 100 {101 to 150(151 to 200[201 to 300(301 to 400[401 to 500
20 12.5 25 37.5 50 75 100 — 51 64 76 89 114 139 —
25 12.5 25 37.5 50 75 100 125 52 65 77 920 115 140 165
@SNC 6-11-13

it
P
c2
oz
o1




Series C85

Dimensions

[First angle projection]

Double acting, Single rod

Rubber cushion: CCI85E | Bore~ Strokel[]
Without magnet, Built-in magnet

HR

Rail mounting type (A)  Band mounting type (B) H S + Stroke F
or non-magnet 77 + Stroke
CO85KE
With rod boot Non-rotating, Piston rod (Rubber cushion only)
KK Wh
| \.
NP — e
M \
g cibel -2 |- & gt 4 [—
g/ @ Il J \.
- - < - \
X
K |
|
9 Rod cross section
AM 9 1 f
h
(mm)
Bore |[AM BE oC| oD EE F |Gt | G2| H |HR| K | KA KK KV | KW | N1 | N2 | NA |oNDh8| S |SW | WH | ZZ
8 |12 |M12x1.25| 4 [167 |M5x0.8| 12 | 7 | 5 | 28 [10 | — | 42| M4x07 | 19| 6 |115/ 95|15 | 12 | 46| 7 | 16 | 86
10 |12 |M12x1.25| 4 |16.7 |[M5x0.8| 12 | 7 | 5 | 28 [105| — | 42| M4x0.7 | 19 | 6 [115/ 95|15 | 12 | 46| 7 | 16 | 86
12 |16 |[M16x15| 6 [19.7 [M5x0.8| 17 | 8 | 6 | 38 |14 | 5 | 62| M6x1 | 24 | 8 |125(|105(18.3| 16 | 50 | 10 | 22 | 105
16 |16 |M16x1.5| 6 (197 |[M5x0.8| 17 | 8 | 6 | 38 (14 | 5 | 62| M6x1 |24 | 8 [125(10.5(18.3| 16 | 56 | 10 | 22 | 111
20 |20 |M22x15| 8|28 | G1/8 |20 | 8 | 8 | 44 |17 | 6 | 82 |M8x1.25| 32 |11 |15 [16 |24 | 22 | 62 | 13 | 24 |126
25 |22 |M22x15(10(335| G1/8 |22 | 8 | 8 | 50 (20 | 8 |102 |M10x1.25| 32 |11 |15 [15 | 30 | 22 | 65 | 17 | 28 |137
With Rod Boot (mm)
ltem h
Bore “Stroke| AM | @€ | ee | f | K KK 11050 | 5110100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 36 | 20| 6 |M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 | 8 |M10x1.25 74 87 99 112 137 162 187
ltem | Wh
Bore Stroke| 1 to 50 |51 to 100{101 to 150 [151 to 200|201 to 300|301 to 400 [401 to 500 1 to 50 |51 to 100{101 to 150[151 to 200|201 to 300|301 to 400 {401 to 500
20 125 25 37.5 50 75 100 — 51 64 76 89 114 139 —
25 125 25 37.5 50 75 100 125 52 65 77 90 115 140 165
6-11-14 P
2 SNC



ISO Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Dimensions with Mounting Bracket

Series C85

[First angle projection]

Double acting, Single rod

Rod foot, Rod and head foot: C85L105, C85L165, C85L255

UR

(‘ﬁ’\
\\ w )

UR

L

4-

oAB

AV
LS + Stroke
Head cover E Head cover N XL + Stroke AOC
Rod flange, Head flange: C85F10, C85F16, C85F25
(-&-] (-o-]
7| = R 7| & " ‘ e -
Y QT 5 e Rlis
B B
FBH13 FBH13 W || FT FTll,
UR UR WL + Stroke
Head cover E Head cover N
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25
|__I | |
Ao A o
OEN  LenE s il
\J \B) EE = g}iy
i —/ i
L, [TDes L [TDes T T
uw uw XV XZ + Stroke
Head cover E Head cover N
Clevis: C85C10, C85C16, C85C25 AE XC + Stroke
a
| o
Vel B R—
i sSE== G
o .
z “ . 2-0AB
N Jﬂ oo
[ [} t t
AU AO
Head cover N TR
LG
(mm)
o Rod foot, Rod and head foot Rod flange, Head flange
ore AO | US |@gAB | LT | NH LS XL TRJS14 | XS |[AV ([UR| W |UR | FBH13 | FT | TF |UF | W WL
8 5 35 | 45 | 32| 16 68 73 25 23.8| 11 26 |12.8]| 22 4.5 32| 30 | 40 |12.8 65.2
10 5 35 | 45 | 32| 16 | 68(75) 73(80) 25 23.8| 11 26 |12.8]| 22 4.5 3.2 | 30 | 40 [12.8]| 65.2(72.2)
12 6 42 | 55 | 4 20 | 78(82) | 86(90) 32 32 14 | 33 |18 30 55 4 40 | 52 |18 76(80)
16 6 |42 | 55 |4 | 20 | 84(84) | 92(92) 32 (32 [14 | 33 (18 | 30 55 |4 |40 |52 |18 82(82)
20 8 54 | 66 | 5 25 96 103 40 36 17 | 42 |19 40 6.6 5 50 | 66 |19 91
25 8 54 | 66 | 5 25 99 110 40 40 17 | 42 |23 40 6.6 5 50 | 66 |23 98
o Rod trunnion, Head trunnion Clevis
ore TT [UW| oTDe8 |TM | TZ [XV | Xz oCDH9 | AE [0AB|AO |AU | TR | LG |NH | LT | XC
8 6 20 4 26 | 38 | 13 65 4 81|45 | 15 |13.1|125| 20 | 24 | 25 64
10 6 20 4 26 | 38 | 13 65(72) 4 81| 45| 15(|13.1(125| 20 | 24 | 25 64(71)
12 8 25 6 38 | 58 | 18 76(80) 6 121 55| 2 18515 25 | 27 | 3.2 75(79)
16 8 | 25 6 38 | 58 | 18 | 82(82) 6 12155 |2 (185|156 | 25 | 27 |32 | 82(82)
20 8 32 6 46 | 66 | 20 90 8 16.1| 6.6 | 4 |24.1|20 32 | 30 |4 95
25 8 32 6 46 | 66 | 24 97 16.1| 6.6 | 4 24120 32 | 30 | 4 104
( ): In the case of air cushion.
6-11-15

O
S

CJ1
CJP
CJ2
CM2
G1
MB

(@)

‘ =
@

CA2
CSt

[l | ~
(LN O

CP95
NCM
NCA
D-

‘ <

Data




Series C85

Dimensions

[First angle projection]

Double acting, Single rod

Rubber cushion: CC185F/Y|BoreH Stroke -

Without magnet, Built-in magnet

Head cover Y

Head cover F

Rail mounting type (A)

With rod boot

Head cover Y

Head cover F

Band mounting type (B)

or non-magnet

S + Stroke

Z + Stroke

CO85KF/Y|Bore —Stroke|
Non-rotating, Piston rod (Rubber cushion only)

) —‘4‘\\
\
g At @ EEE Sl A=
(— \‘
< B \
X
AM 9 | ¢ Rod cross section
h
(mm)
Bore |AM| BE oC| oD EE F |Gt |[G2| H | HR| K | KA KK KV | KW | N1 | N2 | NA |[oNDh8| § |SW |WH| Z
8 [12|M12x125| 4 [16.7|M5x0.8| 12 | 7 5 128 |10 | — | 42| M4x0.7 | 19 6 |[11.5| 95](15 12 | 46| 7 |16 | 74
10 (12 [M12x1.25| 4 |16.7 [M5x0.8| 12 | 7 5 | 28 |[10.5] — | 42| M4x0.7 | 19 6 |[11.5| 95|15 12 | 46| 7 |16 | 74
12 |16 [M16x1.5| 6|19.7 [M5x0.8| 17 | 8 6 | 38 |14 5 | 62| Mex1 24 8 |12.5]10.5/18.3| 16 | 50 | 10 | 22 | 88
16 |16 [M16x1.5| 6[19.7 [M5x0.8| 17 | 8 6 | 38 |14 5 | 62| Mex1 24 8 |12.5[10.5|18.3| 16 | 50 | 10 | 22 | 88
20 |20 M22x1.5| 8|28 G1/8 | 20 | 8 8 | 44 |17 6 | 82| M8x125]| 32 | 11 |15 |15 |24 22 | 62 | 13 | 24 | 106
25 |22 |M22x1.5|10(335| G1/8 | 22 | 8 8 | 50 |20 8 |10.2 |[M10x1.25] 382 | 11 |15 |15 |30 22 | 65 | 17 | 28 | 115
With Rod Boot (mm)
Item h
Bore Stroke AM | oC | oe f K KK 1to 50 5110 100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 36 | 20 6 | M8x1.25 Ia 84 96 109 134 159 —
25 22 10 36 | 20 8 |M10x1.25 74 87 99 112 137 162 187
Item 1 Wh
Bore Stroke| 1 to 50 |51 to 100|101 to 150|151 to 200|201 to 300|301 to 400|401 t0 500| 1 to 50 |51 to 100 (101 to 150| 151 to 200 201 to 300 | 301 to 400 | 401 to 500
20 12.5 25 37.5 50 75 100 — 51 64 76 89 114 139 —
25 12.5 25 37.5 50 75 100 125 52 65 77 90 115 140 165
6-11-16 o
ZSVC



ISO Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Dimensions with Mounting Bracket

Series C85

[First angle projection]

Double acting, Single rod
Rod foot: C85L10A, C85L16A, C85L25A

B, {/

\

\
i
o]\ .
D
\ I \
. : .
I I I

\
i
| i
1 '
I I

1]

o
]
} T T ol P
[ ] [ T J ! 1 CJP
TR TR AQ| AV —
CJ2
Us us XS —
Head cover Y Head cover F CM2
Rod flange: C85F10, C85F16, C85F25 CG1
\ \
| | - MB
(O~ (O~ MBT
MB1
| ——
- ol CA2
8 s - kS T > < o1
@ O c78
| FBH13 | FBH13 W FT T
C95
UR UR ——
CP95
Head cover Y Head cover F L
. NCM
Rod trunnion: C85T10, C85T16, C85T25 —
\ \ | NCA
| | |
s ‘ e ‘ T
\ \
afl= X
— o —
| ﬁ | ll:l [ A = ,},,‘Lﬁ,i S 1 | | 20'
— \
‘ Data
\ \ — ‘
N Y, \ y, |
I I ‘
\ \ ‘
\ \
TDe8 TDe8 T
Uw Uw XV
Head cover Y Head cover F
(mm)
Bore Rod foot Rod flange Rod trunnion
AO |US [oAB| LT [NH| TRJS14 | XS |AV |UR| W |UR FBH13 FT|TF|{UF| W | TT |[UW| TDe8 TM | TZ | XV
8 5 |3 |45 |32| 16 25 23.8| 11 | 26 [12.8| 22 4.5 3.2| 30| 40 (12.8| 6 | 20 4 26 | 38| 13
10 5 (135]45|32]|16 25 23.8| 11 | 26 [12.8] 22 4.5 3.2| 30| 40 [12.8| 6 | 20 4 26 | 38| 13
12 6 |42 |55 |4 20 32 32 [ 14 |33 (18 | 30 55 4 40 | 52 |18 8 | 25 6 38| 58| 18
16 6 |42 |55 |4 20 32 32 | 14|33 |18 | 30 55 4 40 | 52 (18 8 | 25 6 38| 58| 18
20 8 |54 |66 |5 25 40 36 |17 |42 |19 | 40 6.6 5 50 | 66 |19 8 | 32 6 46 | 66 | 20
25 8 |54 66 |5 |25 40 40 |17 | 42 23 | 40 6.6 5 50 | 66 |23 8 | 32 6 46 | 66 | 24
6-11-17



Series C85

Dimensions

[First angle projection]

Double acting, Double rod

Rubber cushion: CC185WE|Bore H Stroke H

Without magnet, Built-in magnet

WH

G1 WH + Stroke

oND

BE

) M N A/
ODIE | A e A B e e
; L
(S
—¢ N\«
E} K
HR AM
N1 F
Rail mounting type (A) Band mounting type (B) H S + Stroke H + Stroke
or non-magnet
ZZ + 2 x Stroke
Air Cushion: CCO85WE Bore H Stroke|C-{]
Without magnet, Built-in magnet
Cushion Valve
WA WA
G1 FL
oy -
— S {eBi " _
HR 08 to 025
. . . N1 N1
Rail mounting type (A) Band mounting type (B)
or non-magnet S + Stroke
ZZ + 2 x Stroke
KK Wh
With rod boot
\ O ﬂ | I
— 8l —
s 17T iy H T XM=
K/ &
9
AM 9 I f
h
(mm)
Bore|/AM| BE |oC| @D EE F |Gt [WA(WB| H |HR| K KK KV |KW | N1 | NA |[oNDh8| S |SW |WH| 2z
8 |12 |M12x125| 4 16.7 [M5x0.8| 12 — | —|28]10 | — | M4x07 | 19| 6 | 115 |15 12 |48{(54}| 7 | 16 |104{110}
10 |12 [M12x1.25| 4 [16.7 [M5x0.8| 12 [7(55)|10.5| 45| 28 |10.5| — | M4x0.7 | 19 | 6 |[115(135)15 12 [48(53)| 7 | 16 |104(109)
12 |16 [M16x1.5| 6 [19.7 [M5x0.8| 17 [8(55)| 95| 55| 38 |14 | 5 M6x1 | 24 | 8 [125125)]18.3| 16 |52(54)| 10 | 22 |128(130)
16 [16|M16x1.5| 6 [19.7 |[M5x0.8| 17 [8(55)| 95| 55| 38 |14 | 5 M6x1 | 24 | 8 [125(125)[18.3| 16 |52(54)| 10 | 22 |128(130)
20 |20 [M22x1.5| 828 G1/8 | 20 115013 85| 44 [17 | 6 |[M8x1.25| 32 | 11 [15(17)|24 22 62 | 13 | 24 | 150
25 (22 |M22x15(10 (335 | G1/8 | 22 | 8 |[115(13]10.5| 50 |20 | 8 |M10x1.25| 32 | 11 [15(17)|30 22 65 | 17 | 28 | 165
(' ): In the case of air cushion. { }: In the case of built-in magnet
With Rod Boot (mm)
Item h
Bore Stroke| AM | 8C | e | T | K KK 11050 | 5110100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 3 | 20| 6 |M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 386 | 20 | 8 |M10x1.25 74 87 99 112 137 162 187
Iltem 1 Wh
Bore Stroke| 1 to 50 |50 to 100{101 to 150[151 to 200201 to 300|301 to 400401 to 500| 1 to 50 |51 to 100{101 ~ 150{151 ~ 200|201 ~ 300|301 ~ 400{401 ~ 500
20 12.5 25 375 50 75 100 — 51 64 76 89 114 139 —
25 12.5 25 37.5 50 75 100 125 52 65 77 90 115 140 165
6-11-18

O

SVC



ISO Cylinder: Standard/Non-rotating Type i
Double Acting, Single/Double Rod Series 085

Dimensions with Mounting Bracket

[First angle projection]

Double acting, Double rod
Rod foot, Rod and head foot: C85L1054, C85L165, C85L255

I
— KK —
s <l Y B 5 N | I i CJ1
/ ) L
CJP
1 : 1
CJ2
TRJS14 I
us LS + Stroke CM2
XL + Stroke AO‘ ﬂ
Flange: C85F10, C85F16, C85F25 MB
\ p—
- @5 ~ MB1
CA2
I
= & = cst
HO) 1 o =l ] ey [t
- —— - C76
- C85
) —
i C95
FBH13 W FT —
" CP95
Trunnion: C85T10, C85T16, C85T25 NCM
ﬂ ; NCA
% ) # D'
! \
X . I I
— ‘ s nl — X
| o I o o T e B < —— 3T [0
—J ‘ —
| | Data
L ‘ Y, |
‘ i
| .
\
FDe8 Rl
uw XV
(mm)
Bore Rod foot, Rod and head foot Flange Trunnion
AO |US [0AB| LT |[NH| LS XL |[TRJS14|XS |AV |[UR| W |UR|FBH13| FT| TF| UF| W | TT |UW|TDe8 | TM| TZ | XV
8 5 (35|45 (32|16 | 70{76} | 75{81} | 25 |23.8/ 11 |26 (12.8/ 22 | 45 |3.2| 30| 40(12.8/ 6 | 20| 4 26 | 38 | 13
10 5 (35|45 (32|16 | 70(75) | 75(80) 25 [23.8/ 11 |26 |12.8| 22 | 45 |3.2| 30| 40(|128| 6 | 20| 4 26 | 38 | 13
12 6 |42 |55 (4 |20 |80(82) | 88(90) 32 (32 |14 (33|18 |30 | 55 |4 40 | 52 18 8 |25| 6 38| 58| 18
16 6 (42 | 55 |4 |20 | 80(82) | 88(90) 32 (32 |14 (33|18 |30 | 55 |4 40 | 52 (18 8 (25| 6 38| 58| 18
20 8 |54 |66 |5 |25 96 103 40 (36 |17 (42|19 |40 | 6.6 |5 50 | 66 (19 8 |32| 6 46 | 66 | 20
25 8 (5466 |5 |25 99 110 40 (40 |17 (42|23 |40 | 6.6 |5 50 | 66 23 8 (32| 6 46 | 66 | 24
( )z In the case of air cushion. { }: In the case of auto switch.
z 6-11-19
< S\VC



Series C85

Accessory Dimensions

[First angle projection]

Single Knuckle Joint/DIN648-DIN24335

Double Knuckle Joint/ISO8140-DIN71752

b1

d3

a| o = _
L] =)
u_‘%"_r/— 77777 - i
o |
[
(mm) (mm)
Bore Model |Thread d3|dh7| h [d6 |b3|b1| | [d7|a®| I3 Bore Model | Threade | b | d f g |c i a
8 KJ4D | M4x0.7 | 5|27[18[60| 8 |10[11] 7510 8 |GKM4-8 | M4ax07 | 4 |16 | 4| 8| 8| 6| 8
10 KJ4D | Maxo0.7 | 5|27][18[60] 8 |10][11]75]10 10 |GKM4-8 | M4x07 | 4 [16 | 4 [ 8 [ 8] 6| 8
12 KJ6D M6x1 | 6|30][20[675] 9|12][13]65]10 12 [GKM6-12 | M6x1 | 6 [24 | 6 [10 [12 | 8 | 12
16 KJ6D Méx1 | 6/30]20][675] 9|12]13] 65|10 16 |GKM6-12 | M6x1 | 6 |24 | 6 [10 [12 | 8 | 12
20 KJ8D | M8x1.25| 836[24[9 [12]16]16]13 |12 20 |GKM8-16 |M8x1.25] 8 [32 | 8 [12 [16 [10 [ 16
25 KJ10D | M10x1.25[10 | 43|28 [105 [14 |20]19[13 |14 25 |GKM10-20{M10x1.25] 10 |40 |10 [18 |20 [12 [ 20
Floating joint: Series JA In the case of dimension without C
M
M -
5 \ M T —
1 T
)
Aty Q A_,,#,747,7F7 .
1 4 X | —
> s L J
oF/|| T - L]
B G
c E P B E
A
(mm)
M Maximum Allowabl Mtﬁlx- QPeratng
Bore Model | Nominal | _. A B c D E F G H screwed owane Snsionan
thread dia. Pitch depth P eccentricity U Cgm’é??fr'\%n
8,10 [JA10-4-070] 4 | 07 [ 26 9 10 12 15 4 4 7 5.5 0.5 0.054
12,16 [JA15-6-100| 6 | 1 345 | 125 | 14 16 2 6 5 10 7 0.5 0.123
20 [JA20-8-125] 8 | 1.25 | 44 175 | — 21 45 7 7 13 8 0.5 1.1
25  |JA30-10-125] 10 | 1.25 | 495 | 195 | — 24 5 8 8 17 9 0.5 25
6-11-20

O
:



ISO Cylinder: Standard/Non-rotating Type .
Double Acting, Single/Double Rod Series C85

Auto Switch Mounting Position and Mounting Height [First angle projection]

Double acting, Single rod
(Band mounting type) (Rail mounting type)
Y ¥
D-C7|:| 16 26 B
D-C80 é o~ = T
Al

8.5

A 23 B

Hs

16 A_ 367 %’ y

o

D-C73C
>ene é Il HHH]—O]’%“F

A 24 B

>
o
4

D-H7O N

¢
]

D-H7OW
D-H7BAL
D-H7NF

A23.5 B

16 a2 % ¥ 5 D-A79W Tﬁ :
DHIC ) F—T T @f )
W_/ HM

85 D-F70]
D F7DW 1111 A_23 B
D-J79
D-J79W
D- F7BAL@5 e 1)
Auto Switch Mounting Position (mm) D-F79F w A
D-C70 D-A73  |D-A70H/A80H| D-H7O D-A79W
D-C80 D-A80  |D-A73C/A80C| D-H7C
D-C73C D-F70/J79 D-H7OW A_26 B
Bore| D-C80C D-F7OW/J79W| D-H7BAL [.
D-F700V D-H7NF
D-F70WV
D-J79C/A72 et ) 5 5
D-F7BAL rLLu
D-F79F LU:ULL(J L
A B A B A B A B A B »
8 3 3 | 35 | 35 | 4 4 2 2 N — D-F7OIV ﬁ A 23 8
10 |3(35)|3(35)|35 @) |35() |4@45)|45) |25 228 | — | — D-F7O0WV
12 | 4(45)] 4 (45) |45 (55)45(55) 56) | 56) | 3@4) | 3(4) | — | — D-F7BAVL 2ly
u
16 | 46) | "0 555|209 56 | 18] 3 | 00 | 29 | 8P e HESIS %Hﬂ_l
20 | 7(5) | 6(4) [75(5.5)6.5(45)| 8(6) | 7(5) | 6(4) | 5(3) | 5(3) | 42 S —
25 [8.5(6.5)7.5(5.5) 9(7) | 8(6) [9.5(7.5)8.5(6.5)7.5(5.5)6.5 (4.5)6.5 (4.5)5.5 (3.5)
e () for air cushion type.
* The lower of 16 is a number for CD85F/Y.
¢ Aim at this number.
C85 Auto Switch Mounting Height (mm)
D-C701/C80 D-C73C D-A70] D-A7CIH/A80H D-A73C D-H7C D-A79W D-J79C D-F70V
D-H70] D-C80C D-A80 D-F701/J79 D-A80C D-F70WV
D-H7OW D-F7O0W/J79W D-F7BAVL
Bore|  p-H7BAL D-F7BAL
D-H7NF D-F79F
Hs Hs Hs Hs Hs Hs Hs Hs Hs
8 16 18.5 18 19 25 19 — 235 215
10 17 19.5 18 19 25 20 — 235 215
12 18.5 21 19.5 20.5 26.5 21 — 25 23
16 20.5 23 19.5 20.5 26.5 23 22 25 23
20 225 25 225 235 295 25 25 29 26
25 25 27.5 25.5 26.5 325 27.5 28 32 29
¢ Aim at this number.
Y 6-11-21
& SNC




Series C85

Auto Switch Mounting Position and Mounting Height [First angle projection]
Double acting, Double rod
(Band mounting type) (Rail mounting type)
D-C70] 16 s _ ¥ ¥ w6 s D-A70 L A 23 B
D-C80 - - D-A80 1 [l
RO I &
A 5
_:pj—zm

[T,
. fwe XY s @%
D-H7C I

?%
?
0

|les D-F7O0W As !
D-J79 H e
D-J79W
D-F7BAL
D-F79F
13.3 13.3
. - g A _26 B
Auto Switch Mounting Position T @ bl
D-C701 D-A73 |D-A7C0H/A80H| D-H70
D-C80 D-A80 |D-A73C/A80C| D-H7C
D-C73C D-F70/J79 | D-H7OW
D-C80C D-F7O0W/J79W| D-H7BAL
D-F700V D-H7NF
Bore D-F700WV
D-J79C A 23 5
D-F7BAL T4 I
D-F79F/A72 i I 1
A B A B A B A B
8 | 10 2 [ 105 | 25 | 11 3 9 1 -
10 [3(35)|3(35)[35(4)|35(4)|4(45)|4@45)[2(@5)|2@25)
12 |4(45)|4(45) |45 (55)4.5(5.5)| 5(6) | 5(6) | 3(4) | 3(4) | — —
16 | 4(5) | 4(5) [4.5(5.5)14.5(5.5) 5(6) | 5(6) | 3(4) | 3(4) | 2(® | 2(3)
20 | 7(5) | 6(4) [75(55)6.5(4.5) 8(6) | 7(5) | 6(4) | 5(3) | 53) | 4(2)
25 [8.5(6.5)7.5(5.5) 9(7) | 8(6) [9.5(7.5)8.5 (6.5)7.5 (5.5)6.5 (4.5)6.5 (4.5)5.5 (3.5)
e () for air cushion type.
C85 Auto Switch Mounting Height (mm)
D-C70/C80 D-C73C D-A70] D-A7CIH/A80H D-A73C D-H7C D-A79W D-J79C D-F700V
D-H70] D-C80C D-A80 D-F701/J79 D-A80C D-F70WV
D-H7OW D-F7O0W/J79W D-F7BAVL
Bore|  p-H7BAL D-F7BAL
D-H7NF D-F79F
Hs Hs Hs Hs Hs Hs Hs Hs Hs
8 16 18.5 18 19 25 19 — 235 21.5
10 17 19.5 18 19 25 20 — 23.5 21.5
12 18.5 21 19.5 20.5 26.5 21 — 25 23
16 20.5 23 19.5 20.5 26.5 23 22 25 23
20 225 25 225 235 29.5 25 25 29 26
25 25 27.5 25.5 26.5 32.5 27.5 28 32 29
* Aim at this number.
6-11-22

O
:



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Series C85

08, 910, 612, 016, 820, 625

SVC

O

6-11-23

How to Order CH
Single acting, CJP
Spring return/ N| 16 — 40 |S B Dl
Spring extended CJ2
CM2
Auto switch CG1
Built-in magnet mounting style
Nil None A__| Rail mounting MB
D | Built-in magnet B Band mounting
Applicable auto switches MB1
Type o and bands are shown on
Nil Standard page 6-11-44. Please
Non-rotating rod . order auto switches and CA2
K 9 Mounting style ¢ bands separately.
(Rubber cushion only) -
Symbol Mounting CS1
N Basic integrated clevis .
E Double end Option C76
F Front nose Stainless steel piston rod, rod end nut
Y* | Front nose in line port & and mounting nut
+ Except single acting spring Stainless steel piston rod and 085
extended type. R2 rod end nut
C95
l CP95
Bore size Stroke ¢ NCM
Bore size (mm) | Standard stroke (mm)* Max. stroke —
8" | NCA
10 10, 25, 40, 50 50 e —
12 ¢Action D-
SO 10, 25, 40, 50, 80, 100, S | Single acting, Spring return
- T 125, 150 150 T Single acting, Spring extended X
25 =
= Other strokes available on request.
20-
Data
Replacement Parts
Mounting Bracket Part No. For Standard Cylinders
; Bore size (mm Part no. Note
. Bore size (mm)) g 10 | 12 | 16 | 20 | 25 () .
Mounting bracket 20 C85-20PS Every set includes:
Foot (1 pc.) C85L10A C85L16A C85L25A n°1 rod packing
Foot (2 pcs. with n°1 packing rgtgining washer
Mounting | mounting nut 1 pc.) C85L10B C85L16B C85L25B 25 C85-25PS n°1 retaining ring
bracket Flangfe C85F10 C85F16 C85F25 For Non-rotating Cy'inders (“K”)
Ciave Gescio | Goscie | casces Bore sz ] [ _Par
evis - -
Single knuckle joint KJ4D KJeD KJsD | KJ10D 20 C85K-20PS E‘éf:yrzzt;gill:izs
Accessory Boublollaiek it GKM4-8 GKMG-10 | GKM8-16| GKM10-20 n°1 packing retaining washer
Floating joint JA10-4-070 | JA15-6-100 | SA20 | JASO 2 CosK-2sPs n°1 retaining ring
-8-125 |-10-125



Series C85

Spring extended

Spring return

-3
T

Rubber cushion

JIS Symbol
Standard

o

Spring return

Non-rotating

—8-A

Spring return

6-11-24

Specifications

Non-rotating

Spring extended

Spring extended

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 8 10
Piston rod thread M4 x0.7 | M4x0.7 | M6x1 Méx1 |M8x1.25/M10x 1.25
Port size M5x0.8 | M5x0.8 | M5x0.8 | M5x0.8 G1/8 G1/8
Action Single acting, Single rod, Spring return/extend
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min.operating S 1EUN_| ) 0.18 MPa 0.13 MPa 018 MPa
pressure Spring extended 0.23 MPa
ng‘gtﬁ?g fluid 20 to 80°C (Built-in magnet type: 10 to 60°C)

Cushion Rubber cushion (Standard)
Lubrication Not required. Use turbine oil Class 1 ISO VG32, if lubricated.
Piston speed 50 to 1500 mm/s
Allowable kinetic 0.02J 0.03J 0.04J 0.09J 0.27J 0.4J
energy
Non-rotating accuracy™ +1° 30 +1° 30' +1° +1° +0° 42' +0° 42'
Stroke tolerance (mm) 0/+1 0/+1.4
Spring Retracting Force (Standard, Non-rotating)
Spring Return (N)
Spring force
Bore | Standard
size stroke 10 25 50 100 150
(mm) (mm) Retract |[Extended| Retract [Extended| Retract |[Extended| Retract [Extended| Retract [Extended
8 441| 402| 441| 343 | 4.41| 245 — — — —
10 10,25,50 | 6.28| 5.69| 6.28| 4.90 | 6.28| 3.53| — — — —
12 716 | 657 | 7.16| 579 | 7.16| 441 | — — — —
16 13.2 | 121 13.2 |10.3 | 13.2 745| 132 | 7.45| 132 7.45
20 18'0’2%)20’ 216 |18.6 | 216 [16.7 |21.6 |[11.8 | 39.2 | 9.81| 39.2 9.81
25 275 |253 | 275 |22.1 275 [ 16.7 | 471 |13.7 471 | 157
Spring Extended (N)
Bore Standard Spring force
size stroke 10 25 50 100 150
(mm) (mm) Retract | Extend | Retract | Extend | Retract | Extend | Retract | Extend | Retract | Extend
8 5.30| 3.92| 530| 3.14| 530| 265| — — — —
10 10,25,50 | 598 | 4.81| 598| 4.02| 598| 353 | — — e —
12 6.57| 5.59| 6.57| 4.90| 6.57| 4.51 —_ —_ — —_
16 147 | 11.3 | 147 9.22 | 14.7 785| 147 | 785 | 147 | 7.85
20 18025530 39.2 |33.0 |39.2 |235 |39.2 | 9.81| 39.2 | 9.81 | 39.2 | 9.81
25 471 | 40.4 | 471 [304 |471 |13.7 471 [13.7 471 |15.7

O
:



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Auto Switch Mounting, Minimum Possible Cylinder Stroke

Series C85

Band Mounting Style

Rail Mounting Style

Bore size: 98, 610, 012, 16 (mm) Bore size: 98, 610, 012, 216 (mm)
) No. of auto switches ) No. of auto switches
Auto switch 3 pcs. 2 pcs. . Auto switch 5 e 5 oo e
model Different sides| Same side [Different sides| Same side model pes. pes.
D-C701 55 9 15 50 10 D-A7(C1/A80
D-C80 D-A73C/A80C 35 10 5
D-C73C D-A7CH
45 10 5
D-C80C 65 105 15 65 10 D-A80H ca
D-H7C D-A79W * 40 15 10
D-H7O] D-F701 CJ P
D-H7OW D-J79 45 5 5 T
D-H7BAL 60 105 15 60 10 D-F700V CJ2
D-H7NF D-J79C 30 5 S o/
D-F7TOW CM2
D-J79W —
D-F7BAL 55 15 0 1CG1
D-F79F
D-F7O0WV MB
D-F7BAVL 40 15 10
+ “D-A79W” cannot be mounted on bore size 98, 910, 912 MB1
cylinder.
CA2
Band Mounting Style Rail Mounting Style
Bore size: 920, 925 (mm) Bore size: 920, 925 (mm) CS1
) No. of auto switches ) No. of auto switches
Auto switch 2 pcs. n pes. . Auto s(;mltch 2 pos 1 ps 1pe. |C76
model Different sides| Same side |Different sides| Same side et ' '
D-C70] 15+ 45("57) D-A7C1/A80 Cc85
D-C80 15 %0 (n=2,4.) |0 +450-2)] 10 D-A7CIH/A80H
D-C73C _ D-A73C/A80C -
15+ 50("5°) 10 +35("2) C95
D-C80C 15 65 (n=24.) 65+50(n-2)| 10 D-F700 10 (n=2,4.) 5 e —
D-H7C B D-F70V T CP95
D-H70C1 D-J79 I
D-H7OW n-2 D-J79C
15+45( %) _
D-H7BAL 15 60 =24y |POFoN-2) 10 D-A7OW NCM
D-H7NF D-F70W N C A
D-J79W n-2
D-F7BAL 15 15+3505) 1 4o
. n=24.. -
D-F79F ( ) D
D-F7O0WvV
D-F7BAVL -X
20-
Data
6-11-25

O
S



Series C85

Construction

[First angle projection]

Single acting, Single rod
Spring return: C[18518 to 16-JS (Disassembly is not possible.)

Component Parts

VAIBIAN

?"ﬂ Ces e

VW
Standard o8

Standard 010 to o016

“N” Basic execution
integrated clevis

Built-in magnet 8 Built-in magnet ﬂ10 to 016

“E” Double end “F” Front nose “Y” Front nose

in line oprt

Rod cross section

No. Description Material Qty. Note No. Description Material Qty. Note
©) Rod cover Aluminum alloy 1 White anodized ©® | Magnet Magnet 1 (Switch type only)
Head cover N | Aluminum alloy 1 White anodized Bumper Urethane 2
Head cover E | Aluminum alloy 1 White anodized @ | Return spring A Piano wire 1
Head cover F Aluminum alloy 1 White anodized @ | Return spring B Piano wire 1
Head cover Y | Aluminum alloy 1 White anodized (3 | Spring guide Brass 1
® Cylinder tube Stainless steel 1 Spacer Brass 1
® Piston rod Stainless steel 1 (> | Piston gasket NBR 1 (2 for switch type)
® Piston Brass 1 Tube gasket NBR 1
® Piston A Brass 1 (Switch type only) @ | Piston seal NBR 1
@ Piston B Brass 1 (Switch type only) Rod end nut Carbon steel 1 Nickel plating
Bush Sintered bronze 1 Mounting nut Carbon steel 1 Nickel plating

Spring Extended: C[185(18 to 16-CIT (Disassembly is not possible.)

“E” Double end “F” Front nose
in line port

“N” Basic execution
integrated clevis

Non-rotating

R
Standard o8

Built-in magnet 68  Built-in magnet 010 to ¢16

Rod cross section

Component Parts

No. Description Material Qty. Note No. Description Material Qty. Note
) Rod cover Aluminum alloy 1 White anodized Bumper Urethane 2
Head cover N | Aluminum alloy 1 White anodized @ | Return spring C Piano wire 1
Head cover E | Aluminum alloy 1 White anodized (2 | Spring guide Brass 1
Head cover F | Aluminum alloy 1 White anodized @3 | Spring seat Brass 1
® Cylinder tube Stainless steel 1 Plug Steel 1
O) Piston rod Stainless steel 1 @ | Spacer Brass 1
® Piston Brass 1 Piston gasket NBR 1 (2 for switch type)
® Piston A Brass 1 (Switch type only) @ | Tube gasket NBR 1
@ Piston B Brass 1 (Switch type only) Rod seal NBR 1
Bush Sintered bronze 1 Piston seal NBR 1
©) Magnet Magnet 1 (Switch type only) ) | Rod end nut Carbon steel 1 Nickel plating
@) | Mounting nut Carbon steel 1 Nickel plating
6-11-26

O
:



Construction

ISO Cylinder: Standard/Non-rotating Type

Single Acting, Spring Return/Extended

Series C85

[First angle projection]

Single acting, Single rod
Spring return: C[185120/25-1S

Strokes < 50mm

2 @ @ ) @ @oB) 10AG 15 ® 19 4 (9 36
' _ | H
A =
Standard “N” Basic execution
integrated clevis

N\ N

Strokes > 50mm

L
ifzaN
]

\ \
“E” Double end “F” Front nose “Y”

\

9 6

Front nose
in line port

18

D@ 13

Standard Built-in magnet Rod cross section
Component Parts Non-rotating rod
No. Description Material Qty. Note No. Description Material Qty. Note
@ Rod cover Aluminum alloy 1 White anodized 10B) | Return spring B Piano wire 1 Zinc chromated
Head cover N Aluminum alloy 1 White anodized ) | Spring guide Aluminum alloy 1
Head cover E Aluminum alloy 1 White anodized @2 | Spring holder Aluminum alloy 1
Head cover F Aluminum alloy 1 White anodized 3 Set screw Carbon steel 1
Head cover Y Aluminum alloy 1 White anodized Wear ring Resin 1
(® | Cylinder tube Stainless steel 1 @ | Bumper A Urethane 1
) Piston rod Carbon steel 1 Hard chrome plated Bumper B Urethane 1
® | Piston Aluminum alloy 1 Chromate @ | Piston gasket NBR 1
® Plain washer Stainless steel 1 Rod seal NBR 1
@ | Bush Sintered bronze 1 Piston seal NBR 1
Bush Sintered bronze 1 20 Rod end nut Carbon steel 1 Nickel plating
@ | Retaining ring Stainless steel 1 Nickel plating @) | Mounting nut Carbon steel 1 Nickel plating
Retaining ring Stainless steel 1 2 | Magnet Magnet 1 (Switch type only)
1

Return spring A

Piano wire

Zinc chromated

Spring extended: C[185(120/25-1T

it
P
ciz
)
oot

Standard N Basic execut.ion «g [;ouble end “F” Front nose
integrated clevis in line port
Non-rotating
Component Parts Built-in magnet g4 .ross section \
No. Description Material Qty. Note No. Description Material Qty. Note
@® Rod cover Aluminum alloy 1 White anodized @) | Spring guide Aluminum alloy 1
Head cover N | Aluminum alloy 1 White anodized 2 | Spring guide Aluminum alloy 1
Head cover E | Aluminum alloy 1 White anodized @3 | Setscrew Carbon steel 1
Head cover F | Aluminum alloy 1 White anodized Wear ring Resin 1
® Cylinder tube Stainless steel 1 @ | Bumper A Urethane 1
@ Piston rod Carbon steel 1 Hard chrome plated Bumper B Urethane 1
® Piston Aluminum alloy 1 Chromate @ | Piston gasket NBR 1
® Plain washer Stainless steel 1 Rod seal NBR 1
@ Bush Sintered bronze 1 Piston seal NBR 1
Bush Sintered bronze 1 ) | Rod end nut Carbon steel 1 Nickel plating
©® Retaining ring Carbon steel 1 Nickel plating @) | Mounting nut Carbon steel 1 Nickel plating
Return spring Piano wire 1 Zinc chromated @ | Magnet Magnet 1 (Switch type only)

O

:

6-11-27



Series C85

Dimensions

[First angle projection]

Single acting, Spring return

CL185¢|Bore -Stroke/S—

Without magnet, Built-in magnet

XC + Stroke
WH
KW G2
BE EE r‘ BE g
N N .
i FH i M- i
& E_{ L I\ '{:}'7W 2
—J ‘ Q
1) i } |
EW d13 K h KV L’
NA AM F N1‘ N2
Head cover E Head cover N Head cover E Head cover N H S + Stroke F
Rail mounting type (A) Band mounting type (B) £ - Stoke AR
or non-magnet ZZ + Stroke
CO85KN, CO85KE
Non-rotating (Piston rod)
| \
T h
_ ] ‘ \
o = | | o B
| \
i \
<
Rod cross section
(mm)
Bore(AM| BE |oC |oCDH9/eD| EE |EW| F [G2| H |HR| K | KA KK |KV|KW| N1|N2|NA |oNDh8 [RR|SW| U (WH
8 |12 |M12x125| 4 4 [16.7|M5x0.8| 8 | 12| 5 | 28 10 | — | 42| M4x0.7 |19 | 6 | 5.5/ 9.5/15 12 10| 7| 6 |16
10 [12 [M12x1.25| 4 4 [16.7|M5x08| 8 |12 | 5 | 28 [105| — | 42| M4x0.7 | 19| 6 | 5.5 9.5/15 12 10| 7| 6 |16
12 [16 [M16x15| 6 6 [19.7|M5x0.8(12 |17 | 6 | 38 |14 | 5 | 62| M6x1 |24 | 8| 55/10.5[18.3] 16 14|10 | 9 |22
16 [16 [M16x1.5| 6 6 [19.7|M5x0.8(12 |17 | 6 | 38 |14 | 5 | 62| M6x1 |24 | 8 | 55/10.5[18.3] 16 13 (10| 9 |22
20 |20 |M22x15| 8 g |28 G1/8 |16 20| 8 | 44 |17 | 6 | 82|M8x1.25| 32 |11 [15 (15 |24 22 1113 |12 | 24
25 |22 |M22x15|10 335 G1/8 [16 | 22| 8 | 50 [20 | 8 [10.2 [M10x1.25| 32 [ 11 |15 [15 [30 22 11|17 |12 | 28
(mm)
Bore e XC 4 77
1t050 | 51t0100 [101t0150| 1to50 | 51to100 [101t0150| 1t050 | 51t0100 [101t0150| 1to50 | 51to 100 [101 to 150
8 |46(52){56(62)} — — B4(70)(74(80))  — — 76(82){86(92)} — — 86(92){96(102)} — —
10  [46(50){56(60)} — — 64(B8)74(T8))|  — — 76(80){86(90)} — — 86(90){96(100)} — —
12 [oEaseoes)| — — | mesesess) — — Hol608) — — (19801983}, — —
16 |56(59.5){66(69.5)} (;;tggg;) (1?gf?‘2)'15.25)) (3582:?3) (1912251(;(1)2)) (}Bmgg;) (190855(11%1{.55))} (1;431(?(3171;;) (1235125:23) {gméﬁig;) (1%9(? 10321) d?%i#%:?{)
20 62{87} 112 137 95{120} 145 170 115{140} 165 190 126{151} 176 201
25 | 65{88.5) 113.5 138.5 |104{127.5}| 152.5 1775 [126{149.5}| 1745 199.5 |[137{160.5}| 1855 210.5

( ): In the case of auto switch style. { }: In the case of non-rotating rod.

6-11-28

O
:



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Dimensions with Mounting Bracket

Series C85

[First angle projection]

Single acting, Spring return
Rod foot, Rod and head foot: C85L104, C85L164, C85L254

UR

LT

4-0AB

XS | AV
LS + Stroke
Head cover E Head cover N XL + Stroke | AO
Rod flange, Head flange: C85F10, C85F16, C85F25
(-9 (-©-—
% JINTH TR . % wlul g v 15 ; q
kkg (=] % (=] o & Az
- -
FBH13 FBH13 w | [|FT FTI .
UR UR WL + Stroke
Head cover E Head cover N
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25
|
[l M 1 |
ol i
fﬂ Eﬁ {ﬁﬁ\ E’:‘ r—HTwr_‘lv 2@ v }
&\;J = k&é} [ LH—MM: -z i
D T8 LITT
uw uw xv_| XZ + Stroke
Head cover E Head cover N
Clevis: C85C10, C85C16, C85C25 ‘ XC + Stroke
;E; ‘
N
au | !
Head cover N
(mm)
Rod foot, Rod and head foot Rod flange, Head flange
B
' |A0|USoAB LT |NH LS XL TRJS14/XS |AV |UR | W |UR [FBH13|FT | TF|UF| W WL
1 to 50|51 to 100/101to 150|1 to 50 |51 to 100[101 to 150 1 t0 50 |51 to 100 {101 to 150
8 |5 |35(45/32[16| 5800 | — | — |&h| — | — | 25 |23.8/11|26[12.8/22| 4.5 |3.2| 30|40 [12.8 525413 — —
10 |5 (35(45(32/16| 5% | — | — |&@h| — | — | 25 [03811 |26 [128(22| 4.5 [3.2| 30|40 [12.8/32253) — —
78(81.5 86(89.5) 76(79.5
12 |6 |42(55/4 [20|&818 — | — |gefed| — | — | 32 [32 |14(33[18 (30| 55 |4 |40[52[18 | @emesy| — —
16 | 6 [42(5.5|4 | 20 |3673) | iaatsosiionios ylizeion sh|daitiarsy| 32 |32 |14 [33[18 |30 | 55 |4 | 40|52 18 | aionsy [iit6cizs on|dadtiay o
20 | 8|54|6.6/5 |25|96(121}| 146 | 171 [103{128)| 153 |178 | 40 |36 |17 |42[19 |40| 6.6 |5 |50|66(19 |91{116}| 141 | 166
25 | 8 |54(6.6/5 |25 961225} 147.5 | 172.5 [1101335)| 158.5 | 183.5| 40 |40 [17 [42[23 |40| 6.6 |5 |50|66[23 |98{121.5)| 146.5 | 171.5
Rod trunnion, Head trunion Clevis
B
° 11T |UW|TD e8| TM| TZ|XV Xz oCD H9|AE [gAB AO|AU| TR |LG [NH| LT G
1 to 5051 to 100]101 to 150 1 to 5051t 100101 to 150
8 6 (20| 4 [26(38|13] & — | — 4 |8.1]45|1.513.1125/20 (24 |2.5] &7 | — | —
10 6|20 4 [26|38[13| %8| — | — 4 |8.1|45/1.5/13.1/12.5/20 |24 25| S48 | — | —
12 8 |25| 6 [38]58[18|aed)| — | — 6 [121]5.5]2 [185)15 [25]27 (32|20 — | —
16 | 825 6 |38|58|18 gsess) nnai)|qeiers) 6 [121]5.5(2 18515 | 25|27 [3.2) e8| M) | 1iiins)
20 8 [32] 6 |[46]66]20]00(115)| 140 |[165 g [16:1]6:8[4 [24.120 [32[30]4 |o5(120) | 145 | 170
25 8 [32] 6 |[46]66]|24 971205 | 145.5[170.5 16.1)6.6(4 [24.1p0 [32[30[4 |141275)] 152.5| 177.5
( ): In the case of auto switch style. { }: In the case of non-rotating rod.
P 6-11-29
& SNC

it
P
ciz
)
oot




Series C85

Dimensions

[First angle projection]

Single acting, Spring
CL185! [Bore-Stroke

return
S

Without magnet, Built-in magnet

WH
G2
EE
™ L ™
T
N2
Head cover Y Head cover F Head cover Y Head cover F H S + Stroke
. , . Z + Stroke
Rail mounting type (A) Band mounting type (B)
or non-magnet
CO85KF, C185KY
Non-rotating (Piston rod)
v‘v \‘
L (Y
_T \\
| _ NI N
! \
i \
<
X
Rod cross section
(mm)
Bore |[AM BE oC | oD EE F [G2| H [HR | K| KA KK KV [KW| N1 | N2 |NA oND h8 SW | WH
8 (12| M12x1.25 4 |16.7| M5x0.8 12 5128 [10 |—| 4.2 M4 x 0.7 19 | 6 | 5.5| 9.5|15 12 7 16
10 |12 | M12x1.25 4 | 16.7| M5x0.8 12 5|28 [105—| 4.2 M4 x 0.7 19 | 6 | 5.5| 9.5/15 12 7 16
12 |16 M16x1.5 6 |19.7| M5x0.8 17 6|38 |14 | 5] 6.2 M6 x 1 24 | 8 | 55/10.5/18.3 16 10 22
16 | 16| M16x1.5 6 | 19.7| M5x0.8 17 6 | 38 (14 | 5| 6.2 M6 x 1 24 | 8 | 5.5/10.5/18.3 16 10 22
20 (20| M22x1.5 8 | 28 G 1/8 20 8 |44 (17 | 6| 82 M8 x 1.25 32 |11 (15 |15 (24 22 13 24
25 |22| M22x1.5 10 | 33.5 G 1/8 22 8 |50 [20 | 8 |10.2| M10x1.25 |32 |11 (15 |15 |30 22 17 28
S z
Bore
1to 50 51 to 100 101 to 150 1to 50 51 to 100 101 to 150
8 | 46(52){56(62)} — — 74(80){84(90)} — —
10 | 46(50){56(60)} — — 74(78){84(88)} — —
12 |50(53.5){60(63.5)} — — 88(91.5){98(101.5)} — —
16 |50(53.5){60(63.5)} | 65.5(69){86(89.5)} |81(84.5){112(115.5)} | 88(91.5){98(101.5)} |103.5(107){124(127.5)} |119(122.5){150(153.5)}
20 62{87} 112 137 106{131} 156 181
25 65{88.5} 113.5 138.5 115{138.5} 163.5 188.5
(' ): Inthe case of auto switch type. { }: In the case of non-rotating.
6-11-30 P
< S\VC



ISO Cylinder: Standard/Non-rotating Type i
Single Acting, Spring Return/Extended Series 085

Dimensions with Mounting Bracket [First angle projection]

Single acting, Spring return
Rod foot: C85L10A, C85L16A, C85L25A

UR

CJ1
CJP
CJ2

Head cover Y Head cover F CM2

Rod flange: C85F10, C85F16, C85F25
| |

o o

(@)

G1

MB1
Hoiw CA2

qlle
|2

‘ - Cc85
| FB | FB LW FT C95

UR UR

o
o
©
1321

Head cover Y Head cover F

Rod trunnion: C85T10, C85T16, C85T25 NC_M
NCA

D-

i i

—

—- = I o —
g -
—

J

‘ <

TZ
TZ

Data

\. J J .

N
\ \
\ \
TD &8 TD €8 T

\
|
|
I
uw uw XV

Head cover Y Head cover F

(mm)
Rod foot Rod flange Rod trunnion

Bore AO|US |oAB| LT |[NH| TRJS14 |XS|AV|UR| W [UR FBH13 FT |TF |UF | W | TT |UW TD e8 TM | TZ | XV
8 5 [35|45|32]|16 25 23.8| 11 | 26 |12.8| 22 4.5 3.2| 30 | 40 |12.8| 6 | 20 4 26 | 38 | 13
10 5 |35 |45 32|16 25 23.8| 11 | 26 [12.8| 22 4.5 3.2| 30 |40 [12.8| 6 |20 4 26 | 38 | 13
12 6 |42 |55 |4 |20 32 32 |14 |33(18 | 30 5.5 4 |40 |52 |18 | 8 | 25 6 38 | 58 | 18
16 6 (42554 |20 32 32 |14 |33|18 | 30 5.5 4 |40 (52|18 | 8 |25 6 38 | 58 | 18
20 8 |54|/66|5 |25 40 36 |17 | 42|19 | 40 6.6 5 |50 |66(19 | 8 |32 6 46 | 66 | 20
25 8 |54(66|5 |25 40 40 | 17 | 42 |23 | 40 6.6 5 |50 |66(23 | 8 |32 6 46 | 66 | 24
6-11-31

O
S



Series C85

Dimensions

[First angle projection]

Single acting, Spring
CO85FBore{Stroke

return
T3

Without magnet, Built-in magnet

XC + 2 x Stroke

WH + Stroke G

EE
N2
Head cover E Head cover N Head cover E  Head cover N H + Stroke S + Stroke | F
Rail ) Band ®) Z + 2 x Stroke RR
ail mounting type and mounting type
or non-magnet ZZ + 2 x Stroke
CO85KN/E
Non-rotating (Piston rod)
| \
. —
(] \
B I ’777} AN N
\\
$ i i \
(W
Rod cross section
(mm)
Bore |AM BE oC [oCD H9| oD EE EW| F | G H |HR| K | KA KK KV [KW| N1 | N2 [NA | oNDh8 |[RR|SW| U (WH
8 |12 [M12x1.25| 4 4 16.7|/M5x08| 8 |12 | 7 | 28 |10 | — | 42 | M4x0.7 |19 | 6 [11.5| 95|15 12 10| 7 6 |16
10 |12 [M12x1.25| 4 4 16.7|/M5x08| 8 | 12| 7 | 28 [105| — | 42 | M4x0.7 |19 | 6 [11.5| 9.5|15 12 10| 7| 6 |16
12 |16 [M16x1.5]| 6 6 19.7|M5x0.8|12 | 17| 8 | 38 |14 5162 | M6x1 |24 | 8 |12.5[10.5(18.3 16 14 110 9 |22
16 (16 [M16x1.5| 6 6 19.7|M5x0.8|12 | 17| 8 | 38 |14 5 (62| M6x1 |24 | 8 |12.5/10.5(18.3 16 13 | 10 9 |22
20 (20 |[M22x1.5| 8 8 28 G1/8 |16 |20 | 8 | 44 |17 6 | 82 [M8x1.25/32 |11 |15 [15 |24 22 11 |13 |12 (24
25 (22 [M22x1.5| 10 335/ G1/8 |16 |22 | 8 | 50 |20 8 [10.2 [M10x1.25/32 |11 |15 [15 |30 22 11 |17 |12 |28
Bore S 4 XC 2z
1t050 5110100 |101t0 150 | 1to50 5110100 |101t0 150 | 1to50 51t0o 100 [101to 150 | 1to 50 51to 100 | 101 to 150
8 |64.5(70.5) — — 94.5(100.5) — — 82.5(88.5) — — 104.5(110.5) — —
10 | 64.5(68.5) — — 94.5(98.5) — — 82.5(86.5) — — 104.5(108.5) — —
12 | 70(73.5) — — 111(114.5) — — 95(98.5) — — 125(128.5) — —
16 | 75(78.5) |101(104.5) |127(130.5) [117(120.5) [143(146.5) | 169(172.5) | 101(104.5) [ 127(130.5) | 153(156.5) | 130(133.5) | 156(159.5) | 182(185.5)
20 87 112 137 140 165 190 120 145 170 151 176 201
25 88.5 1135 138.5 149.5 174.5 199.5 127.5 152.5 177.5 160.5 185.5 210.5

(' ): In the case of auto switch style.

6-11-32

O
:



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Dimensions with Mounting Bracket

[First angle projection]

Single acting, Spring extended
COI85N, CI85E
Rod foot, Rod and head foot: C85L105, C85L165, C85L257

W + Stroke

LT

Series C85

= 4-6AB
; ;
.TR .l AV | |5 ==
LS + Stroke
Head cover E Head cover N XL + (2 x Stroke) A0 CJ_P
C[85N, CI85E CJ2
Rod flange, Head flange: C85F10, C85F16, C85F25 b
CM2
(-6-— (-&- —
(fm\\ TN % (?ﬁ\ [TRRTH = ‘] 3 ey s CG1
OHe 1Ty == ! e SR —
e o MB
[il_ |FBH13 [il_IrBH13 FT. FT I,
UR UR W + Stroke WL + (2 x Stroke) MB1
Head cover E Head cover N —
CA2
CO85N, CO85E el
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25 CS1
|
| | gii ‘ ‘ ‘ 1H C76
f?"\ SN (Fﬁ\ SN e ——] 1 v VI = vl 1
&EJ (= k&g) =~ R E i ) —— ‘ % L= 5 = i
1 i C85
Il [TDes ' [TDes Bus o |C95
uw uw XV + Stroke XZ + (2 x Stroke)

Head cover E  Head cover N CP9%5
CO85N —
Clevis: C85C10, C85C16, C85C25 XC + (2 x Stroke) NCM

AE 9
™~ LH_ YA T
il 1 2-0AB D-
= gll=
L AO| | -
LAY, 1R X—
Head cover N LG
(mm) 20'
Front foot, Rod and head foot Rod flange, Head flange D t
atla
Bore | 6| us bAB| LT |NH LS XL TRJS14|XS|AV |UR| W |UR |[FBH13| FT | TF |UF| W WL bl
1 to 50|51 to 100[101t0 150(1 to 50151 to 100[101 to 150 1 to 50 [51 10 100[101 to 150
8 |5](35(|a5|32(16865025 — | — 1sers| — | — | 25 [23.8/11 |26 |12.8/22| 4.5 [3.2] 30|40[12.883.7(89.7) — —
10 |5 (35(45(3.2|16 865905 — | — (915955 — | — | 25 [23.8/11 |26 [12.8/22| 4.5 [3.2| 30|40 [12.883.7(87.7) — =
12 | 6 |42|55(4 |20|98(1015)| — | — [106(1095 — | — | 32 [32 |14|33|18 [30| 55 |4 |40|52[18 [96(99.5) — —
16 | 6 |42(5.5(4 |20 [103(1065)|129(132.5)[155(158.5) [111(1145) | 137(1405)163(166.5)| 32 [32 |14 |33 |18 30| 5.5 |4 |40|52[18 [101(1045)[127(130.5)[153(156.5)
20 |8 |54(66(5 |25(121 [146 |171 |128 |153 [178 | 40 [36 |17|42[19 |40| 6.6 |5 |50|66[19 [116 | 141 | 166
25 |8 |54(6.6/5 [25(122.5[147.5|172.5|133.5|158.5(183.5| 40 |40 |17 [42(23 (40| 6.6 |5 |50(66[23 |121.5 | 1465 | 171.5
Rod trunnion, Head trunnion Clevis
Bore | o1 |uw|TD e8| Tm|TZ [xV Xz oCD H9| AE [oAB/AO|AU | TR [LG |NH LT X
1 to 5051 to 100]101 to 150 1 to 5051 to 100101 t0 150
8 6 20| 4 [26]38|13 835805 — | — 4 |81l45[1503.1[12520]24 [2.5[s25885 — | —
10 6 20| 4 [26|38|13 835875 — | — 4 |8.1|45[15[13.112.520 24 [2.5 825865 — | —
12 8 25| 6 [38]58|18]96(99.5) — | — 6 [121)5.5(2 [185[15 [25]27[3.2]95985) — | —
16 8 [25] 6 |[38[58|18 [t01(1045)127(1305)|153(1565)| 6 [12.1]5.5(2 [18.5[15 |25 |27 [3.2 [101(1045)[127(130.5)153(156.5)
20 8 [32] 6 [46|66[20]|115 [140 |[165 g |161]6:6]4 4120 [32]30(4 [120 | 145 | 170
25 8 [32] 6 [46[66]24]1205]1455( 1705 16.16.6]4 [24.1f20 [32[30|4 [127.5| 152.5] 1775

(' ): Inthe case of auto switch style.

6-11-33



Series C85

Dimensions

[First angle projection]

Single acting, Spring extended
CL185FBore—Stroke T

Without magnet, Built-in magnet

WH + Stroke G
KW
BE ‘ f
\ o L
R | M-
KV~
F N1 N2
Rail mounting type (A) Band mounting type (B) H + Stroke S + Stroke
or non-magnet
9 Z + (2 x Stroke)
C85KF, CD85KF
Non-rotating (Piston rod)
| \
(O
\
T 1 _ AN | | -
4<i>7 ( ‘\\
- \
¢ \
Rod cross section
(mm)
Bore|AM BE oC | oD EE F |G| H |HR |K|KA KK KV | KW | N1 N2 | NA | SW | WH
8 12| M12x125 | 4 |16.7| M5x0.8 | 12 | 7 | 28 |10 |—| 4.2 M4 x 0.7 19 6 | 115]| 95|15 7 16
10 [12| M12x1.25 | 4 [16.7| M5x0.8 |12 | 7 | 28 |10.5|—| 4.2 M4 x 0.7 19 6 | 115 95| 15 7 16
12 |16| M16x1.5 | 6 [19.7| M5x0.8 |17 | 8 | 38 |14 |5 | 6.2 M6 x 1 24 8 | 125|105 | 183 | 10 22
16 |16| M16x1.5 | 6 [19.7| M5x08 |17 | 8 [ 38 |14 |5 | 6.2 M6 x 1 24 8 | 125 | 105 | 183 | 10 22
20 (20| M22x15 | 8 |28 G 1/8 20 | 8 | 44 |17 | 6| 82 M8 x 1.25 32 11 | 15 15 | 24 13 24
25 20| M22x1.5 |10 |335| G1/8 22 | 8|50 |20 |8[102| Mi10x1.25 32 11 | 15 15 | 30 17 28
S V4
Bore
1 to 50 51 to 100 101 to 150 1 to 50 51 to 100 101 to 150
8 | 64.5(70.5) — — 92.5(98.5) — —
10 | 64.5(68.5) — — 92.5(96.5) — —
12 70(73.5) — — 108(111.5) — —
16 69(72.5) 95(98.5) 121(124.5) | 107(110.5) | 133(136.5) | 159(162.5)
20 87 112 137 131 156 181
25 88.5 113.5 138.5 138.5 163.5 188.5

( ): In the case of auto switch style.

6-11-34

O
:



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Dimensions with Mounting Bracket

Series C85

[First angle projection]

Single acting, Spring extend

Rod foot: C85L10A, C85L16A, C85L25A

W + Stroke LT
i L
— sl
: 34— e :
2-0AB CJ1
S [,
,,,,, i CJP
TRJS14 | AO AV CJ2
us XS + Stroke
‘ ‘ ‘ CM2
Rod flange: C85F10, C85F16, C85F25 CG1
‘ —
~ & ~ M8
MB1
Il Il
CA2
At —t—f g s T FH——%——— e T EAS
U
CS1
C76
| o C85
FB FT ——
C95
UR W + Stroke
CP95
Rod trunnion: C85T10, C85T16, C85T25 NCM
\ \
m \ NCA
e | N i D
| — |
| | I
| [h ] [x
. N N G— I It S ——
= X
‘ \ 20-
| -
| ‘ Data
\_ J J |
T i
\ :
\
TDe8 T
uw XV + Stroke
(mm)
B Rod foot Rod flange Rod trunnion
ore AO|US |gAB| LT|NH| TRJS14 |XS|AV|(UR| W |UR FBH13 FT |TF [UF | W | TT |UW TD e8 T™ | TZ | XV
8 5|3 |45 |32]|16 25 23.8| 11 | 26 | 2.8| 22 4.5 3.2|30 |40 (128 6 | 20 4 26 | 38 | 13
10 5 |35 |45 |32]|16 25 23.8| 11 | 26 (12.8| 22 4.5 32|30 |40 (128 6 | 20 4 26 | 38 | 13
12 6 (42|55 (4 |20 32 32 |14 |33(18 | 30 5.5 4 |40 |52 (18 | 8 |25 6 38 | 58 | 18
16 6 |42 | 55 |4 20 32 32 | 14|33 (18 | 30 5.5 4 40 | 52 |18 8 |25 6 38 | 58 | 18
20 8 |54(66|5 |25 40 36 | 17 |42 19 | 40 6.6 5 |50 |66 (19 | 8 |32 6 46 | 66 | 20
25 8 |54 |66 |5 25 40 40 |17 | 42 |23 | 40 6.6 5 50 | 66 |23 8 | 32 6 46 | 66 | 24
6-11-35



Series C85

[First angle projection]

Auto Switch Mounting Position and Mounting Height

Single acting, Single return

(Band mounting type) (Rail mounting type)

Y Y
D-C701 [’ET 4 26+ - 5 D-A70] A 23 B
D-G80 f - 5 g D-A80 I QT
I
ur
8.5 J
A_ 36.7 Y y B,
- 18 D-A70H A_22 B
D-C73C D-A8OH
D-C80C o ] °
é | eI b L
16 A_ 29 y y
D-H70) ﬁ T + A 24 B
D-H7OW P ] T4 I
D-H7BAL [ i ﬂ .,
D-H7NF e Il 3 -
8.5
16 A _ 382 y y
- 1111
D-H7C [ _ _ ﬁ . .
e I [ D-A7OW =
(2]
LR i L
=1 i
Auto Switch Mounting Position  (mm)
Auto Single acting/Spring return D-F701
switch Bore A B D'F?DW 1111 A 23 B
model 10 50 st [51 to 100 st[101 to 150 st D-J79 ﬂj
8 15 15 15 3 D-J79W 2
10| 13 13 13 3 D-F7BAL | el
DCT0 |12 | 145 | 145 | 145 | 4 D-F79F il -
v 10
B_gggg 16 | 145 30 455 P 15 15
20 | 7(32) 57 82 6
25 | 7(32) 57 82 7.5 D-J79C
8 | 155 | 155 155 |35
10 | 135 | 135 135 |35
12| 15 15 15 45
D-A73 105
D-A80 16| 15 30.5 45 |, . 114
: D-F7C1V > A 23 B
20 |7.5(32.5)| 57.5 82.5 6.5 D-F7CO0WV TH
S 25 (7.5(32.5)| 57.5 82.5 8 D-F7BAVL of Fn:m/ﬂ_\
D-A7C0H/A80H | 8 16 16 16 4 £
D-A73C/A80C
DpaanSoC [0 [ 14 14 14 4 wﬁ %TLLM
D-F7OW/J79w | 12 15.5 15.5 15.5 5
D-F70V
D-F7OWV | 16 | 155 31 465 151
D-J79C/A72
D-F7BAL- | 20 | 8(33) 58 83 7
D-F79F 25 | 8(33) 58 83 8.5
8 14 14 14 2
D-H70 10| 12 12 12 2 . . .
D-H7C 12| 135 | 135 135 | 3 C85 Auto Switch Mounting Height (mm)
D-H7O0W 9 D-C701/C80|D-C73C|D-A701| D-A7CIH/A80H | D-A73C | D-H7C | D-A79W| D-J79C| D-F700V
D-H7BAL | 16 | 135 29 45 1 3 D-H70] |D-C80C|D-A80| D-F7C/J79 |D-ASOC D-F7TO0WV
D-H7NF 20 | 6(31) 56 81 5 D-H7OW D-F7OW/J79W D-F7BAVL
Bore| p-H7BAL D-F7BAL
25 | 6(31) 56 81 6.5 - H7NF D-F79F
180 — — — — Hs Hs Hs Hs Hs Hs Hs Hs Hs
2 — — —— 8 16 185 | 18 19 25 19 — | 235 | 215
D-A79W 8 10 17 195 | 18 19 25 20 — 23.5 21.5
6] 125 | 28 485 12 12| 185 | 21 | 195 205 265 | 21 22 | 25 23
20 | 5(30) 55 80 4 16 20.5 23 19.5 20.5 265 | 23 22 25 23
25 | 5(@0) | 85 80 |55 20| 205 | 25 | 225 23.5 295 | 25 25 | 29 26
* () for non rotating type.
* The lower of 816 is a number for CD85F/Y. = 25 27.5 | 255 26.5 32.5 2 28 32 2

* Aim at this number.

6-11-36

* Aim at this number.

SVC

O



ISO Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Auto Switch Mounting Position and Mounting Height

Series C85

[First angle projection]

Single acting, Single Extended

(Band mounting type)

(Rail mounting type)

;
D-C70 16 A2 ¥ Y 2B D-A70 =T o A 23 B
D-C80 ] - D-A80 Ve I il
2 P
[ 4‘"1
‘é =R g - ey .
D-C73C . s XY . D-A7TOH 1111 . . CJP
D-C80C D-A80H & s A = —
é g = ki N = CJ2
N L
" A= J F{Fnr'—(o—m S
pl= = b ™ [omz
D-H7O D-A73C 133 133 CG1
D-H7OW D-A80C ‘ ol0 A 24 B
D-H7BAL el R I E [ —
D-H7NF p g g % 4 A MB
I
v ﬁhﬁ(—m i HHr—(o—m p—
é ’ gl= = U = [mB1
CA2
D-H7C 16 A 382 XY B D-A79W fl; A235 P —
" A ( )%I @% W Ao ( ) —
7 —LUA ] g— SR I c76
D-F7C0W
D-J79 C85
Auto Switch Mounting Position  (mm) D-J79W . A 23 5 Co5
Auto Single acting/Spring extended B'E;gl’:”' . - M
switch Bore B : ¥ Arr— o—] ( ) LTTTI
model A 11050 st[5110 100 st[101 to 150 st @ Ww [ CP95

8 | 3| 275 | 275 275 —

10| 3 | 265 | 255 | 255 NCM
D-C70 12 | 4 27.5 275 27.5 —
D-C80 325 | 585 | 845 D-J79C 135 133 A 2 B NCA
DorsC |16 4| 265 | 525 | 785 e T4 &l

20 | 7 31 56 81 =iy 44&[

25 |85 | 31 56 81 [ S—— | 4 | D-

8 |35| 28 28 28 U L -

10 |35 | 26 26 26 =X
PRI =
D-A80 16 | 45 >7 53 7 D-F7L0WV i A 23 B 20-

9 D-F7BAVL M
20 | 75| 315 | 565 81.5 o] @ L
25| 9 | 315 | 565 | 815 15 0, L, (Data
D-A7CH/AS0H | 8 | 4 | 285 | 285 285 SR st
D-A73C/A80C |10 | 4 | 265 | 265 26.5
D-F701/J79 : : :
D-F7OW/J79w | 12 5 28.5 28.5 28.5
D-F70V 335 | 595 85.5
D-F7OWv | 16 | 5 | 575 | 535 79.5
D-J79C/A72
D-F7BAL | 20| 8 22 2; 82
e I R C85 Auto Switch Mounting Height (mm)
: : : D-C701/C80|D-C73C|D-A701] D-A7CIH/A80H | D-A73C | D-H7C | D-A79W| D-J79C| D-F700V

10| 2 | 255 | 255 255
D-H7O : : : D-H70 |D-C80C|D-A80| D-F70/J79 |D-A8SOC D-F70WV
D-H7C 12| 3 | 275 27.5 27.5 D-H7OW D-F7OW/J79W D-F7BAVL

D-H7OW 325 | 585 84.5 Bore| p-H7BAL D-F7BAL
D-H7BAL | 16 | 3 | 25 | 525 78.5 D-H7NF D-F79F
LAle 20 | 6 31 56 81 Hs Hs Hs Hs Hs Hs Hs Hs Hs

25 | 75| 31 56 81 8 16 185 | 18 19 25 19 — 23.5 215

8 | 1 — — — 10 17 19.5 | 18 19 25 20 = 235 | 215

:g ; — — — 12 18.5 21 19.5 20.5 265 | 21 22 25 23
EATaw G o5 855 16 | 205 23 19.5 20.5 265 | 23 22 25 23

16 | 2 | 545 | 505 76.5 20 22,5 25 22,5 235 295 | 25 25 29 26

20 | 5 29 54 79 25 | 25 275 | 255 26.5 325 | 275 | 28 32 29

25 | 6.5 29 54 79 « Aim at this number.

6-11-37

O

SVC



ISO Cylinder: Direct Mount Type
Double Acting, Single Rod

Series C85R

08, 010, 612, 616, 820, 025

How to Order

Double actin
Single rod J C

D|85R|A| F

Built-in magnet

16

40 H B XB6

Nil None

D Built-in magnet

Type

A | Bottom side mounting

B* | Front side mounting

+ Only 20, 925

Mounting style ¢

Symbol Mounting
F Front nose
Y Front nose in line port

Bore size l Stroke o
Bore size (mm) | Standard stroke (mm)* Max. stroke (mm)
13 10, 25, 40, 50, 80, 100 100
12 10, 25, 40, 50, 80, 100, 160
16 125, 160
20 10, 25, 40, 50, 80, 100, 160
25 125, 160

* Other strokes on request.

Mounting Bracket Part No.

Auto switch
mounting type

A Rail mounting

B Band mounting

Applicable auto switches and
bands are shown on page 6-11-
44. Please order auto switches
and bands separately.

Option ¢
R2 Stainless steel piston rod and
rod end nut
Replacement Parts
Bore size (mm) Part no. Note
Every set includes:
2 -
0 C85-20PS n°1 rod seal
n°1 seal retaining washer
25 C85-25PS

n°1 retaining ring

Mounting bracket Bore size (mm)

. 8 | 10 [ 12 | 16 | 20 | 25
Single knuckle joint KJ4D KJ6D KJ8D | KJ10D
Double knuckle joint GKM4-8 GKM6-10 GKM8-16|GKM10-20

L JA20 | JA30
Floating joint JA10-4-070 JA15-6-100 .8-125 |-10-125

6-11-38

O



ISO Cylinder: Direct Mount Type .
Double Acting, Single Rod Series C85R

Specifications

Square rod cover makes direct Bore size (mm) 8 10 12 16 20 25
mounting possible Piston rod dia. (mm) 4 4 6 6 8 10
. Piston rod thread M4 x0.7 | M4x0.7 | M6x1 M6x1 |M8x1.25/M10x1.25
Space-saving .
. . Port size M5x0.8 M5x0.8| M5x0.8| M5x0.8| G1/8 G1/8
Mounting accuracy and rigidity made e Doubr 0 Sinale rod
possible by means of faucet joint and direct ction ouble acting, Single ro
mounting_ Fluid Air
Front nose mounting type and bottom side Proof pressure 1.5 MPa _
mounting available to suit your applications. Max. operating pressure 1.0 MPa CJ1i
Bottom side mounting Min. operating pressure 0.1 MPa 0.08 MPa 0.05 MPa CJP
Ambient and fluid o I . o
femperatire —20 to 80°C (Built-in magnet type: —10 to 60°C) CJ2
Cushion Rubber bumper (Standard) CM2
Lubrication Not required. Use turbine oil Class 1 1ISO VG32, if lubricated.
Piston speed 50 to 1500 mm/s CG1
Allowable kinetic energy 0.02J 0.03J 0.04J 0.09J 0.27J 0.4J MB
Stroke tolerance 0/+1 0/+1.4
MB1
CA2
Weight © |cst
Bore size (mm) 8 10 12 16 20 25
Bottom sid ti 43 46 84 95 167 | 253
e el ottom side mounting C76
Front side mounting — — — — 163 230
Additional weight for each 10 mm of stroke | 2 22| 41| 51| 78] 122 [#H
Bottom side mounting Front side mounting C95
CP95
JIS Symbol —
Double Acting, Single Rod NCM
NCA
| D-
-X
20-
Data

SMC 6-11-39

O



Series C85R

Auto Switch Mounting, Minimum Possible Cylinder Stroke

Band Mounting Style

Rail Mounting Style

Bore size: 88, 10, 12, 016 (mm) Bore size: 98, 610, 012, 316 (mm)
) No. of auto switches ) No. of auto switches
Auto switch 3 pes. 2 pes. . Auto switch .
model Different sides| Same side |[Different sides| Same side model e 2 pes.
D-C70 D-A7(C1/A80
D-C80 55 90 15 50 10 D-A73C/A80C 35 10 5
D-C73C D-A7CH
D-C80C 65 105 15 65 10 D-A80H % 10 °
D-H7C D-A79W * 40 15 10
D-H7O1 D-F701
D-H7OW D-J79 45 5 5
D-H7BAL 60 105 15 60 10 D-F700V
D-H7NF D-J79C 30 5 5
D-F70O0W
D-J79W
D-F7BAL 55 15 10
D-F79F
D-F7O0wWvV
D-F7BAVL 40 15 10
# “D-A79W’cannot be mounted on bore size @8, 210, 012
cylinder.
Band Mounting Style Rail Mounting Style
Bore size: 920, 925 (mm) Bore size: 920, 925 (mm)
) No. of auto switches ) No. of auto switches
Auto switch 2 pcs. h pes. . Auto switch .
model Different sides| Same side [Different sides| Same side model Al n pes.
D-C701 15 + 45("52 D-A7C1/A80
D-C80 15 S0 (n= 2,(4.2..) ls0.+4500-2) 10 D-A7CIH/AS0H
D-C73C noo D-A73C/A80C 2
D-C80C 15 65 |02 Va5 som-2) 10 D-F70 10 10435(57) | 5
(n=2,4..) (n=2,4..)
D-H7C D-F701V
D-H70O1 D-J79
4 n-2 .
g_:zgx_ 15 60 15(’n+=4:’(4?) )60 +55(n—2)| 10 [D)_:\?;:w
D-H7NF D-F70W
D-J7oW 15+ 35("2)
D-F7BAL 15 10
(n=2,4..)
D-F79F
D-F7O0WvV
D-F7BAVL
6-11-40

O
:



ISO Cylinder: Direct Mount Type i
Double Acting, Single Rod Series 085R

Construction [First angle projection]

Double acting, Single rod
C85RAS8 to 16 (Disassembly is not possible.)

AN

CJ1
P —— T Tl CJP
- \
| \ Ca2
Standard 010 to 016 “F” Front nose “Y” Front nose CM2
in line port I
CG1
MB
MB1
CA2
Standard 08 Built-in magnet
Component Parts CSi
No. Description Material Qty. Note No. Description Material Qty. Note C76
@ Rod cover Aluminum alloy 1 White anodized ® Bush Sintered bronze 1
Head cover F Aluminum alloy 1 White anodized @ Magnet Magnet 1 (Switch type only) 085
Head cover Y | Aluminum alloy 1 White anodized Bumper Urethane 2
® Cylinder tube Stainless steel 1 @ Piston gasket NBR 1 (2 for switch type) C
O) Piston rod Stainless steel 1 Tube gasket NBR 2 95
Piston “A” Brass 1 a Rod seal NBR 1
Piston “B” Brass 2 (Switch type piston) 12 Piston seal NBR 2 CP95
(E) Rod end nut Carbon steel 1 Nickel plating
NCM
CI85R{20/25
NCA
® @® L B @ G0 q 2D D-
-X
1] —
» 1o \ 1 ' 20-
I I . W L YO I I I A __ —
- \ Data
\
Standard “F” Front nose “Y” Front nose Built-in magnet
in line port
Component Parts
No. Description Material Qty. Note No. Description Material Qty. Note
@ Rod cover Aluminum alloy 1 White anodized ©) Retaining ring Stainless steel 1
Head cover F | Aluminum alloy 1 White anodized Wear ring Resin 1
Head cover Y Aluminum alloy 1 White anodized a Bumper A Urethane 1
©) Cylinder tube Stainless steel 1 (@) Bumper B Urethane 1
) Piston rod Carbon steel 1 Hard chrome plated (E) Piston gasket NBR 1
® Piston Aluminum alloy 1 Chromate Rod seal NBR 1
® Plain washer Stainless steel 1 (5] Piston seal NBR 1
@ Bush Sintered bronze 1 i Rod end nut Carbon steel 1 Nickel plating
Retaining ring Carbon steel 1 Nickel plating W) Magnet Magnet 1 (Switch type only)
6-11-41

O
S



Series C85R

Dimensions [First angle projection]

Double acting, Single rod
Base mounting/CC185RA¥[8 to 16 - Stroke -B
Without magnet, Built-in magnet (Band mounting type)

XB
sw wi o,
- EE
SN A
¥ L:J,:j
otz 3 % e
i K/ Q=F
NA AM N1 l
H S + Stroke
Head cover Y Head cover F ZZ + Stroke
(mm)
Bore | AM | B |@C | oD EE G1|G2| H | K KK L olLD LH|(LX |[N1|N2 [INA| S |[SW|WH|XB | ZZ
8 (12 |16 | 4 |17 ([M5x08|19 | 5 |16 | — |[M4x0.7| 23 | 93.5, 6.5 depth of counterbore 4 8 |14 |285| 95(15 |58 | 7 | 4 |12 |74
10 |12 |16 | 4 |17 |[M5x0.8/19 | 5 |16 | — [M4x0.7| 23 | 93.5, 6.5 depth of counterbore 4 8 |14 |285| 9.5(15 |58 | 7 | 4 |12 |74
12 |16 |20 | 6 |20 [M5x0.8|/25 | 6 |21 | 5 | M6x1 |26 | 4.5, a8 depth of counterbore 5 |10 | 16 |29.5/10.5(18.3| 67 |10 | 5 | 16 | 88
16 |16 |20 | 6 |20 [M5x0.8|/25 | 6 |21 | 5 | M6x1 |26 | 4.5, 8 depth of counterbore 5 |10 | 16 |29.5/10.5(18.3| 67 |10 | 5 | 16 | 88
Base mounting/C[185RAY[20/25H Stroke B
Without magnet, Built-in magnet (Band mounting type)
XB
2-gLD
% Y sw AV I == EE &2 .
KK Q Y \m
— I R i :
[ it i i NE
& 2 q ’%§\ o
S W .
— K HEE 1 L
|
ONA ONA AM |3 N1 N2 LX
H S + Stroke L
Head cover Y Head cover F ZZ + Stroke
(mm)
Bore|AM | B |oC | @D EE G1|G2 | H | K KK L olLD LH|[LX |[N1 [N2 [NA|oNDh8 | S |[SW |WH |XB | 2Z

)]

20 | 20 |30.3| 8 |28 G1/8 |22 | 8 |30 M8 x 1.25|33.5| 05.5, 89.5 depth of counterbore 65 | 15 | 21 | 29 | 15 | 24 | 20 3033 76 | 13 | 10 | 22 |106
25 |22 |36.6|10 |33.5| G1/8 |22 | 8 |36 | 8 |M10x1.25/39 | @66, 11 depthof counterbore7.5 | 18 | 25 | 29 | 15 | 30 | 26 S0ss| 79 | 17 | 14 | 26 |115

Front mounting/C[185RBY|20/25 - Stroke -B
Without magnet, Built-in magnet (Band mounting type)

WH  G1 EE EE G2 .
O 4-0FF
¢ sw
0 KK S r \m Z}f_
/ \\_ ‘ S T
o o e
v ’ 3] %
N v il . OO
ONA ONA AM, 3], N1 N2 OFX
H S + Stroke OF
Head cover Y Head cover F ZZ + Stroke
(mm)
Bore| AM | oC | oD | EE | OOF FF OFX| G1 | G2 | H K KK N1 | N2 CNA| oNDh8 | S |SW |WH | ZZ
20 | 20 8 |28 |G 1/8/30.4 M5 x 0.8 depth 9 22 | 22 8 30 6 M8 x 1.25 29 | 15 | 24 | 20 —8_033 76 | 13 | 10 | 106
25 | 22 | 10 |33.5|G 1/8|36.4 M6 x 1 depth 11 26 | 22 8 36 8 M10 x 1.25 29 | 15 | 30 | 26 —8.033 79 | 17 | 14 | 115

6-11-42

O
:



ISO Cylinder: Direct Mount Type .
Double Acting, Single Rod Series 085R

Auto Switch Mounting Position and Mounting Height [First angle projection]
Double acting, Single rod
(Band mounting type) (Rail mounting type)
h'e Y 1111
16 A_ 26 B 7 A 23 B
D-C70) " " D-A70] m I
D-C80 2 @ ° J D-A80 IJLﬁ[ b
o dhe e CX
THgll I e’
8.5 CJ1
16 A_ 367 Y ¥ B D-A7C0H 11117 o A 22 Tﬁ CJP
D-C73C I p-ason i e (oo
D-C80C 2 ey f -hﬂ% f 1 19,
derdl Ve A &Y P
eyl llsa N & cM2
L’M 13.3 3.3 —
Y ¥ D-A73C ‘ Tjﬁo A2 f CG1
16 A_ 29 B - - —
D-H70] . . ;T D-A80C . 5 r—ﬁl{ ) MB
D-H7OW 2 3 Nl P
D-H7BAL ] @@ = 1SS Y = IMB1
D-H7NF gl @ —
| les_ 1111 CA2
ﬁ . A 235 B
16 38.2 \H \Eﬁ’ B D-A79W S ” 1’__2%[ MW CS1
- T % © =
D-H7C § _ T dd e —
£ |
u c76
e A ©
e L C85
B D_F7|:| 1111 A 23 B
TTI = g ] —
D-J79 f 1D
D-J79W R PPN P
. . . D-F7BAL @ CP95
Auto Switch Mounting Position (mm) D-F79F I
D-C701 D-A73 D-A7C0H/A80H D-H7O1 D-A79W NCM
D-C80 D-A80  |D-A73C/A80C| D-H7C 133 133
Bore 3'&7333 D le;'gv%;j;gw S-I:I;BDX\II. D-J79C - ﬁ—% E Nea
D-F70V D-H7NF i S Hﬁ? . NCA
o, " o
D-J79 .
D-F7BAL e PN D-
D-F79F ii & ——
A B A B A B A B A B _X
8 | 3 3 35 | 35 | 4 4 2 2 — — g':;;g‘\llw m; A 23 B —
10 | 3 3 35 | 35 | 4 4 2 2 — [ = - 2
12| 4 4 45 | 45 | 5 5 3 3 — | = D-F7BAVL P r"$ Mﬂ 20-
16 | 4 4 45 | 45 | 5 5 S 3 2 2 D @m
20| 7 | 6 75 | 65 | 8 7 6 5 5 4 ] @‘*’ Data
25 8.5 7.5 9 8 9.5 8.5 7.5 6.5 6.5 55
C85 Auto Switch Mounting Height (mm)
D-C700/C80 D-C73C D-A70 D-A7CJH/A80H D-A73C D-H7C D-A79W D-J79C D-F700V
D-H70C1 D-C80C D-A80 D-F700/J79 D-A80C D-F700WV
D-H7OW D-F70W/J79W D-F7BAVL
Bore|  p-H7BAL D-F7BAL
D-H7NF D-F79F
Hs Hs Hs Hs Hs Hs Hs Hs Hs
8 16 18.5 18 19 25 19 — 235 215
10 17 19.5 18 19 25 20 — 235 215
12 18.5 21 19.5 20.5 26.5 21 — 25 23
16 20.5 23 19.5 20.5 26.5 23 22 25 23
20 225 25 225 235 29.5 25 25 29 26
25 25 27.5 25.5 26.5 325 27.5 28 32 29
* Aim at this number.
6-11-43
2 SNC



Series C85

Applicable Auto Switch

. S . Load voltage Auto switch model™”* Lead wire length* (mm) )
Type Special function EI:gtt:;lcal é S (\C/)VLIJI;;?t) DG AC Band Rail mounting 05 | 3 | 5 |None Aplﬂ:: ble
< mounting| perpendicular | In-line| ) | (L) | @) | (N)
3-wire JE ircui —
(NPN) — 5V — C76 — A76H| ® | @ IC circuit
Yes
- Grommet — — 200V — A72 A72H| ®© (& | — | — _
.‘~§3 — 12V 100V C73 A73 A73H| ® (@ | @ | —
2 No 5V,12V| <100V C80 A80 ASBOH| ® | ® | — | — |ICcircuit Bl
[0} . elay,
) Yes 2-wire 12V — 7 A7 — [ N BN AN J —
o Connector 24V C73C 3¢ —— PLC
No 5V,12V| <24V | C80C A80C — ® O ®| ® [Ccircuit
Diagnostic indication Grommet | Yes . . _ A79W _ e lo| —|— -
(2-color)
3-wire (NPN) 5V, 12V _ H7A1 F7NV F79 | @ @ | O|— IC circuit
. Grommet 3-wire (PNP) H7A2 F7PV F7p | @ (@ | O|—
— H7B F7BV ® 0| O|—
2-wire 12V J79 —
Connector — H7C J79C — [ 2N BN AN J
Diagnostic indication S-wire (NPN) 5V, 12V H7NW | F7NWV_|F79W] @ | ® | O |— |0 oy
5 3-wire (PNP) H7PW — F7PW| @ | @®@ | O|— Relay,
= (2-color) Yes 24V PLC
& H7BW | F7BWV [J79W| — | @ | O |—
Q . :
g | Waterresistant | G omet 2wire 12V _ | H7BA| F7BAV |F7BA| — |@|O|—|
g (2-color)
3 With timer 3-wire (NPN) — = F7NT| © (@ | O|—
With diagnostic output 4-wire 5V, 12V H7NF _ F7oF| ® el ol— IC circuit
(2-color) (NPN)
* Lead wire length symbols: 0.5 m -------.- Nil (Example) C73C
5m Z (Example) C73CZ
3m- .- L (Example) C73CL

N (Example) C73CN

+ Solid state switches marked with “O” are manufactured upon receipt of order.
#x “D-A79W” cannot be mounted on bore size 88, 10, 212 cylinder.

6-11-44

O
:



I i [ M=1e(¢ /Cld Band mounting type \

<Applicable auto switch>
D-C701/C80, D-C73C/C80C, D-H71, D-H7C

Mounting and Moving Method of Auto Switch

Auto switch Series C85

LTI [ Q=TT 1l Rail mounting type \

<Applicable auto switch>
D-A701/A80, D-A73C/A80C, D-F70J/J70], D-J79C

Mounting and Moving Method of Auto Switch

Auto switch

Auto switch
mounting screw
M3 x 0.5x12

Auto switch mounting band
(With bracket)

1. Put a mounting band on the cylinder tube and position the auto
switch.

2. Put the mounting part of auto switch in the middle of the stationary
fitting, aligning the mounting hole with the hole of the stationary
fitting.

3. Screw in the auto switch mounting screw through the mounting hole
into the threaded part of the band fitting.

4. Set the whole body to the detecting position by sliding, then tighten
the mounting screw to fix the auto switch (the tightening torque of
M3 screw should be about 80 to 100 N/cm).

5. Modification of the detecting position should be made following step
#3.

Auto Switch Mounting Band Part No.

Bore size (mm)
8 10 12 16 20 25
C85 | BJ2-008 | BJ2-010 | BJ2-012 | BJ2-016 | BM2-020 | BM2-025

Series

| Differential Response of Auto Switch \

The distance from the operating position of auto switch to the
returning position is called the differential response. This response is
included in part of the operating range (one side).

Auto switch
\
‘ | 4| Mu‘ H
Switch f
operating Differential response
position
(ON)

H‘ IMM‘ ]7
Switch operating —

position (OFF)

The difference between the operating position (ON) of switch and
the returning position (OFF) is 2 mm or less in a reed switch and 1
mm or less in a solid state switch.

O

Auto switch
mounting screw

CJ1
CJP
Auto switch CJ2
| CM2
Nut for fixing ‘ ——
CG1
MB
Auto switch
mounting rail MB1
CA2
1. Slide the nut located inside the mounting rail and set it at the auto CS1
switch mounting position.
2. Fit the convex part of the auto switch mounting arm into the slot of C76
the rail and slide it to the nut position.
3. Allow the auto switch mounting screw to match gently in the nut for C85
attachment and screw it in.
4. Check the detecting position again and tighten the mounting screw
to fix the auto switch definitely (the tightening torque of M3 screw C95
should be about 50 to 70 N/cm). —
5. Modification of the detecting position should be made following step |CP95
#3. —
. . NCM
|Maximum Piston Speed \
If an auto switch is set at mid-stroke, the electrical device to which it is NCA
connected, may not operate if piston speed is too high.
Maximum allowable piston speed “V” is given by D-
Operating range of auto switch (mm
V (mmfs) = ——roraing fang . (M) 4600 -X
Response time of electrical device (ms)
20-
Example -
The operating range of a D-A73L reed switch on a CD85E40 cylinder is 8 Data

mm. It is necessary to use a solenoid valve with an electrical response
time of 30 ms.

Maximum piston speed, V = 38—0 x 1000 = 266 mm/s

Operating Range of Auto Switch

) Bore size (mm)
Mounting Model 8 110 112 [ 16 [ 20 | 25
Band D-C701/C80/C73C/C80C 717 |7 717 |8

D-H7C/H7CW/H7BAL 3 (3 |3 4| 4 |4
D-H7C 8 |8 |8 9|7 |85
D-A7C1/A80, D-A7C1H/A80
D-A73C/A80C 818 |° °1TT
Rail |D-A79W — |— |— [ 13 |10.5[10.5
D-F70/J79/F7TOW/J79W
D-F70OV/F7TOWV/F79F 5|5 |6 6|5 |6
D-J79C/F7BAC]
SVC 6-11-45



Series C85

| Contact Protective Box CD-P11, CD-P12

D-A7/A8 and D-C7/C8 reed switches do not incorporate contact pro-

tection circuits. Contact protection is required if:
1. Operating load is inductive.

2. The wiring length to load is 5 m or more.
3. Load voltage is 100 VAC or more.

Contact Protective Box/Specifications

Contact Protective Box/Internal Circuit

Part no. CD-P11 CD-P12
Load voltage 100 VAC 200 VAC 24 VDC
Max. load current 25 mA 12.5 mA 50 mA

Lead wire lengh

Connection Method of Contact Protector

Switch connecting side 0.5 m

Load connecting side 0.5 m

CD-P11

Surg% E Crh.?ke E o Brown lead wire
absorber | ~coil ! (~)
[¢} . . O Blue lead wire
L 1
cb-p12
e i
o T Choke O (+) Brown lead wire
v el
' |
o . ; o (-) Blue lead wire
|

Connect lead wires from reed switch to those on protector box
indicated with “switch”. Length of lead between switch body and

protector should be less than 1 m.

6-11-46

O




n High Temperature

C85 [Mounting| [Bore size |- [Stroke| - XB6
N,E,FY 810,12, 16,20, 25 mm

Standard cylinder seals are replaced with special ones and other modifi-
cations are made in order to enable the cylinder to operate at a high am-
bient temperature (—10 to 150°C).

option Series C85

E Low Temperature XB
C85 [Mounting| [Bore size |- [Stroke| - XB7
N,E,FY 20,25 mm

Standard cylinder packing are replaced with special ones and other mod-
ifications are made in order to enable the cylinder to operate at a low am-
bient temperature (-55 to 70°C).

Possible applications: Possible applications: CJ1
- Bore size 8 to 20 mm - Bore size 20 and 25 mm
- Rubber bumper - Rubber bumper
- Without magnets (Auto switches cannot be used at high temperature.) - Without magnets (Auto switches cannot be used at low temperature.) CJP
- Single rod — Double acting - Single rod — Double acting —
- Double rod — Double acting (W) - Double rod — Double acting (W) CJ2
Dimensions unchanged Dimensions unchanged CM2
Specifications Specifications CG1
Type Air cylinder Type Air cylinder
Applicable size 28, 210, 916, 220, 25 mm Applicable size 220, 225 mm
Action Double acting Action Double acting MB
Ambient temperature range —-10to 150°C Ambient temperature range -55 to 70°C
Piston speed 50 to 500 mm/s Cushion Rubber bumper MB1
Cushion Rubber bumper Material Seal: Low nitrile rubber
. Seal: Fluorocarbon rubber ateria Wear ring: Fluorocarbon resin CA2
Material L . -
Wear ring: Fluorocarbon resin Grease Fluorinated grease
Grease Fluorinated grease Note) Contact SMC for non-rotating type. CS1
Note) Contact SMC for non-rotating type.
E Low Speed | XB9| ﬂ Heavy-duty Scraper oYy |C76
C85 [Mounting| [Bore size |- |Stroke |- XB9 C85 [Mounting| [Bore size |- |Stroke |- XC4 C85
N,E,F, Y 20, 25 mm N,E,F, Y 20, 25 mm
The cylinder does not generate any stick-slip phenomenon even at the A heavy-duty scraper is used as wiper ring. Ideal for severe applications C95
rated low speed of 10 to 50 mm/s. where the cylinder is exposed to dust, earth and sand. Applicable to cast- ————
All strokes drive at a constant speed smoothly. ing machines, construction machines, industrial vehicles, etc. CP9%5
Possible applications: Possible applications: NCM
- Bore size 20 and 25 mm - Bore size 20 and 25 mm
- Rubber bumper type only - Rubber bumper type only NCA
- With or without magnets - With or without magnets
- Single rod — Double acting - Single rod — Double acting
- Double rod — Double acting (W) D-
Dimensions unchanged Dimensions unchanged X
Specifications Specifications 20
Type Air cylinder Type Air cylinder
Applicable size 920, 25 mm Applicable size 220, 25 mm
Action Double acting Max. operating pressure 1 MPa (10 bar) Data
Piston speed 10 to 50 mm/s Min. operating pressure 0.08 MPa (0.8 bar)
Cushion Rubber bumper Cushion Rubber bumper
Note) Contact SMC for non-rotating type. Wiper ring NBR (SCB)

O

Note) Not applicable for non-rotating type.

Construction

ot
\TJ |

(I

6-11-47



	C85 ISO Cylinder
	Features
	Stroke Selection
	C85 Standard/Non-rotating Types, Double Acting, Single Rod/Double Rod
	Specs/Weight
	Minimum Stroke for Auto Switch Mounting
	Construction
	Dimensions
	Auto Switch Mounting Position

	C85 Standard/Non-rotating Types, Single Acting, Spring Return/Extend
	Specs/Spring Retracting Force
	Minimum Stroke for Auto Switch Mounting
	Construction
	Dimensions
	Auto Switch Mounting Position

	C85R Direct Mount Type, Double Acting, Single Rod
	Specs/Weight
	Minimum Stroke for Auto Switch Mounting
	Construction
	Dimensions
	Auto Switch Mounting Position

	Applicable Auto Switch
	Auto Switch Mounting Bracket
	Contact Protective Box
	X Options




